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Author's Hope

Reading Spark contains passages about many remarkable things that have happened or

are happening in the world. We are confident that Reading Spark will provide enjoyable
reading experiences for the readers, and hope that they will be able to “get sucked into
the story.” By doing so, the readers will be able to expand their knowledge of the world

and improve their reading ability without even noticing that they are studying.
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How to Use Reading Spark

Reading Spark is a 6-level series of reading comprehension books. This series is
designed for EFL learners to expand their general knowledge and improve their reading
ability through highly interesting passages. It is targeted at learners of varying proficiency
ranging from junior high to high school. Special efforts were made to adjust the difficulty

so that the gap between each level is almost equal.

Level and Grade
Level Grade Passage Length
(Junior High to High School)

Reading Spark 1 late 7th ~ early 8th 200 ~ 240 words
Reading Spark 2 mid 8th ~ early 9th 240 ~ 260 words
Reading Spark 3 mid 9th ~ late 9th 240 ~ 280 words
Reading Spark 4 early 10th ~ mid 10th 260 ~ 300 words
Reading Spark 5 late 10th ~ early 11th 280 ~ 320 words
Reading Spark 6 mid 11th ~ late 11th 300 ~ 340 words

How long does it take to finish the book?

Each volume in the series contains 24 readings, and each reading is expected to take 30
minutes to finish. Therefore, each book can be completed in two months if you teach three
thirty-minute sessions per week. You will have to adjust the course duration if you have more

or fewer sessions than three a week.
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Reading Spark Series Overview

Keeping Sunflowers
in the Dark

R | WORDS |

Match the words with their correct meanings.

1. closet a. very typical
2. solar __ b. oforrelating to the sun

3. classic c. an animal, plant, human, or any other living thing
4. organism ___d. asmallroom thatis used for storing things

5. purpose e. inaway that produces a desired result

6. effectively . the reason why something is done or used

7 intemal ___ g. have the front part toward

8. face h. existing or located on the inside of something

| EXPRESSIONS |
o whatif: what will happen it
What if there’s no sun for the sunflower to guide its solar tracking?
o as well: in addition; too
This is clear from the fact that the sunflower in darkness bends just as well.
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9 Pre-reading

e Picture

The picture will help the readers
prepare for the lesson and think about
the topic. It can also be used as a
motivator by sparking the readers’
curiosity and imagination.

—e \X/ords & Expressions
New vocabulary is presented to get the
readers ready for the passage. The
readers are asked to match the words
with their definitions.

Reading 13

—® Anyone who keeps a garden knows that most plants bend toward the sun to
catch as much sunlight as they can. This is called “solar tracking,” and sunflowers
are a well-known example of such a phenomenon. If you observe a sunflower in the
early morning, you will find it turning its face eastward; at sunset, on the other hand,

< its face will turn towards the west. But what if there’s no sun for the sunflower to

guide ts solar tracking? . what happens if you take a sunflower out of

the garden bed and keep it in a completely dark closet?
Surprisingly, the sunflower will continue s solar tracking with or without

sunlight. It will bend, just as it did outside, eastward at sunrise and westward at

sunset, even if there is not a single ray of light inside the dark closet. This is a classic
example of what scientists call a circadian rhythm. A circadian thythm is a daily
cycle of behavior that is internal to the organism, rather than being directed by the
environment.

Sunflowers do follow the sun, but they don’t just “seek™ sunlight. This is clear
< from the fact that the sunflower in darkness bends just as well. Although sunflowers
don’t bend themselves with any purpose in mind, some scientists think they have
evolved their solar tracking system over millions of years. According to this theory,
the evolution helps sunflowers catch light more effectively, and the ones that catch

light best are most likely to survive. As a result of this natural selection, we now

have sunflowers that bend automatically. However, that only happens when
sunflowers are young plants. After a certain stage sunflowers stop following the sun

and only face cast.

58 1 Reading 13

€3 During Reading

—=e Passage
Each passage deals with a different topic
so that the readers do not lose their
curiosity. We made sure each passage
is followed by another with a completely
different topic.

Further, easy passages are alternated
with challenging passages. If the first
passage is easy, the next passage is
likely to be moderately difficult, and the
third likely to be highly challenging.



s

. Whatis the best title for the passage?

a. How Do Sunflowers Reproduce?

b. Do Sunflowers Always Face the Sun?

¢. How Much Sun Do Sunflowers Need?

d. Do Sunflowers Bend Their Heads Down?

~

. What is the best expression for the blank?

a. By contrast

b. For instance

c. In other words
d. In the same way

©

. How do sunflowers move in the darkness? Answer in Korean.

IS

. What does the underlined part in paragraph 3 imply?
a. Sunflowers follow the sun day and night.
b. Sunflowers follow the sun no matter what the weather.
c. Sunflowers follow the sun to catch light more effectively.
d. Sunflowers follow the sun not purposely but automatically.

® 1 STORY MAP

Why do sunflowers always face the sun? Fill in the blanks.

Observation | Sunflowers () follow the sun
4
Experimentation | Even when in a closet, sunflowers will 2 follow the sun
4
Theory [ Sunflowers ) asun @ System over a long time.
always. developed tracking stil
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€) Post-reading

—e Comprehension Questions
Various types of test-oriented
comprehension questions are
given to help the readers develop
comprehension skills.

—e Story Map
Story Map supports the development of
reading skills such as cause & effect,
problem & solution, and compare &
contrast.

MP3 & Word Bool(i"&#

This CD includes all recordings of reading passages
and Parrot Talks recorded by native speakers.
Another attachment is a detachable and portable
Word Book. Students can also download the native
speaker’s recordings in MP3 files for free from our

homepage www.visang.com.

7‘ VOCABULARY

Self Review

Complete each sentence using the words or phrases from the word box.

purpose as well facing classic
closet effectively organisms

1. Al have to adapt to changes in environmental conditions.

2. We keep our coats and umbrellas in the by the front door.

3. Confusing “it's” and “its” is a(n) mistake.

4.The of doing business is to make money.

5. Try to communicate your ideas more
6. You bought a new cell phone? | bought one

7. Lunch is served on the terrace the sea.

miE
Y é PARROT TALK Two people talk like  parrot, repeating each other's words. B

Listen and answer the following questions.

1. How does a sunflower behave when put in a dark closet?

2. What is a circadian rhythm?

60 1 Resting13

—e Self Review - Vocabulary

This section is intended to review the
same vocabulary that was defined in
“Words & Expressions.” The readers are
asked to answer the questions without
teachers’ help because the sentences
give full context for easy understanding.

- Self Review - Parrot Talk

In this section, the students will listen to
a passage-based dialog. In this dialog,
one speaker responds by repeating what
the other person says, just like a parrot.
Listening to the words and structures
repeated in this way will help the readers
internalize the expressions. Parrot Talk
will provide the readers with a fun

and easy way to review the unitin an
integrated way.
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| WORDS |

£ Xot=
Y AS0|Lt 20FE FYH o= E0fot=

IXFE Ssh= fanatice| fanzt ‘FX|- L2t S& Ksk= HolAL -domel g0z, ofE
At

S E= 2t 23 IS 7I21ZIch

Match the words with their correct meanings.

protest b
brilliant _a
rescue c
dominant d
literature
interact

o

reward

© N @O AN -

_h
privilege g

| EXPRESSIONS |

e -~ 0o o 0 o 9

very clever and intelligent

the expression of strong disagreement with something

save someone or something from danger or harm

more important, powerful or successful than other things

talk or do things with other people; work or act together

written works such as poems, plays, and novels

a special advantage that is not given to everyone

something that you get because you have done something good

o give in to: finally agree to do or accept something that you had at first opposed ==sic

Finally, the author gave in to the pressure.

Online Fandom | 9
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[In 1893, Arthur Conan Doyle became
> Q2 TN
bored with writing detective stories for his

character Sherlock Holmes. So the English
author decided to write a story called The Final
Problem, in which the hero Sherlock Holmes
dies.|But readers sent thousands of angry letters
to Conan Doyle, demanding Holmes’s return.
Some fans even wore black armbands and
marched through the streets of L§§don as a
sign of protest. Finally, the author gave in to the
pressure. In 1901, he brought Sherlock Holmes
back in his novel, and went on to write 31 new stories about the brilliant detective.
Sherlock Holmes’s fans rescued their favorite character through letters and
demonstration. But how do we modern fans do it now?

Most of us agree that TV and multimedia have replaced literature as the
dominant form of public entertainment. Meanwhile, the spread of the Internet has
made it much easier for 21st century fans to express their views to the makers of

pJ=ESTeY] X=X

entertainment. Today, fans write comments on websites and interact with each other

to share information.
Over the past few decades, the community of fans, or “fandom,” has become

an organized force in entertainment. From drama to talk sﬁows, fans freely express
ESSEEPE
their views and enjoy their influence as a result.[Just as Conan Doyle’s fans did to
> Q4 TN = got logether
revive Sherlock Holmes, today’s fans will also get together to save their favorite

character from being killed off. Sometimes they push the producers and the writers

— . "push+2 o] +oRHAE ~olf -3l=2 Yestcizach

of TV shows to bring a romance back into the story.]
GRAEIE] EEOYS (P27t 251 21 Y A8 S5t Ho| ofd)

No matter what the time or place, it seems fans like to express their love of
|

11(\ *M‘i’ 2 24

story in any given format, and by doing so, continue to interact with the creators.

And maybe that’s the reward as well as the privilege of the true fan of any era!

Whatever the time or place& HH0{ £ £ 111, ol may be7t A=HEl SEejolch
ex. No matter what the weather(= Whatever the weather), | know you will enjoy your trip.
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1. What is the main idea of the passage?

a. why freedom of expression is important
b. how the Internet has changed modern life
v ¢. how fans have influenced public entertainment
d. what skills are necessary in an information society

HWE0| Conan Doyleoli7l 222 7tsl Sherlock HolmesE CrAl &f2|7| 3EH A2 AZlSHH, 2EE7IX| #E0| tiE22tof Fe2 0|x|n U= Aol
tish &Esk= S0Ic.

2. According to the passage, which is NOT true about Arthur Conan Doyle?

a. He got tired of writing detective stories. 2z

v b. He committed murder in 1893. sz — so12 xx/2 210] 0tLizt Sherlock Holmes7t == =22 & Ziolch
c. He gave in to his fans’ protests. oz
d. He revived Sherlock Holmes in 1901.

3. Why does the writer mention Sherlock Holmes?

a. to show that Arthur Conan Doyle was a great writer

b. to show that Sherlock Holmes was a famous detective

c. to emphasize that detective stories are less popular than ever
v d. to emphasize that fandom is not a recent phenomenon

22| =20l Conan Doyle2| 235 o2 = 22 WHO| LEE0I2 A= 0| ofLlztks AS ZZEst7| flsiAo]Ct.

4. Who are now in a similar situation with Arthur Conan Doyle?

the producers and the writers of TV shows / the makers of entertainment

1t7{9] HE0| Conan Doyledi| Al &2
drama writers7t Conan Doylext H

=2 the producers and the writers of TV showsol|lZ| &2 7tsicta gioo=z

2 JRIR0| 2s5H9
=8t U0l Mol ATt g 4= AT 22 2220 FHE

=]
ol
f,:,

| STORY MAP

How do fans express their views differently over time? Fill in the blanks.

Different Ways of Expressing Their Views over Time

- (1) Literature , the main form of entertainment
- Fans expressing views through (2) letters

Over a hundred years ago

- Replacement of literature with TV and (3) multimedia
- Fans sharing information to express views on (4) websites

Now

websites letters literature multimedia

Online Fandom |

1



Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

protest privileges interacted rewards
rescued give in to literature

1. He had no special privileges and was treated just like every other student.

2. A fireman rescued three children from the burning building.

3. Lucy  interacted  well with other children in the class.

4. The government refused to give in to their demands.

5. She has read many of the major works of literature .

6. He was so upset by their decision that he resigned in protest .

7. The school has a system of rewards A<’;%r!16c+ithpALTrlwai}ghments to encourage good
behavior.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. Why is the boy angry?

His favorite character was killed off in the TV drama.

2. What is a great way to interact with TV show creators?

You can interact with TV show creators by writing comments on a website.

12 | Reading 01
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The Bandwagon Effect

HHEQHZ Zuh TS Sk Ml 20l= ARZo|LE B2 XIX|sh= 314

| WORDS |

Match the words with their correct meanings.

1. purchase _d a. someone who is competing in an election

2. originate b b. come from a particular place, time, situation, etc.
3. candidate ~a c. one part of a situation, idea, plan, etc.

4. aspect c d. buy; get something by paying money for it

5. odd _f e. something that is unusual or difficult to explain fully
6. phenomenon e f. strange or unusual

7. essential _h g. a planned series of actions for achieving something
8. strategy g9 h. important and necessary

| EXPRESSIONS |
o as a rule: usually; generally cx=
As a rule, people want to belong to a popular group.
o conform to: behave in a way that is accepted by most people ~o w=ct

One may feel more security by conforming to the popular group.

The Bandwagon Effect | 13
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TRACK 02 | WORDS 309
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N

0

As a rule, people want to belong to a popular group.|A “scense of belonging” is
a basic social need, and one may feel more pride and secu;i;); i;; conforming to the
popular group.|People sometimes imitate others in order to enjoy such feelings. For
example, teenagers tend to purchase expensive sneakers or clothes just because their
friends buy those things. This is a typical example of “the bandwagon effect.”

The term originated in America more than a hundred years ago. A bandwagon
was a vehicle pulled by horses or oxen. [A] It was used to carry a political candidate

. o be used + toRFAL ~517] fIsh ALZEICt cf. be used to -ing: ~5h= Hl sl Uc
alongside musicians to draw the attention of the crowd at a parade. |B| There was an

expectation that people would easily remember and eventually vote for the candidate
~2t= 7|t / that®2 an expectationit 52 remembere} vote fore| 35 SX

riding on the bandwagon. [C| But the result surprised everyone: It happened that

many people would actually “jump” onto their favorite candidate’s bandwagon., D]
So the popularity of a candidate could be judged by the number of people who jumped on his wagon.
Besides that, there was another interesting aspect to this odd phenomenon:|The
> Q2 EtA
crowd would prefer to join the wagon loaded with more people. They must have felt
better following the choice of the majority at the parade.|Over time, the term
“bandwagon” has become a metaphor for this tendency. Now, when someone says
TR do what everyone
“hop on the bandwagon,” they really mean ““__éelse is doing  »

Today, the bandwagon effect is most commonly seen in the advertising
industry. For instance, you may be familiar with slogans like this: “All teens are in
love with this new MP3 player, Magic Eko! Now it’s your turn to find out why!”
People are led to believe that they don’t belong to a popular group unless they buy

Magic Eko. Clearly, the bandwagon effect is an essential commercial strategy to
eary

2% A BAL Itis clear that the bandwagon effect is an

encourage customers to buy new products. cssential commercial strategy to encourage customers to
buy new products.2 HH0{ & =~ QUCt




1. Where would the following sentence best fit?

So the popularity of a candidate could be judged by the number of people who jumped
on his wagon.

a. A b. [B] c.[c] v d.[D]

SEO| 17|7F 19| ofthRiof S2bEt AlRfSC| A= HEHE 4 AUChE A2 B2 AIRS0| ANZE 1 2ltixtol S2tet2 ks e

2ol Fferstrt.

2. What is the best expression for the blank?

a. respect what others believe
b. pay close attention to others
v ¢. do what everyone else is doing
d. do what you have always wanted to do
The crowd would prefer to join the wagon loaded with more people. They must have felt better following the choice of the majority
at the parade.(12&)0M Ee F2& & UCh

3. Fillin the blank using a word from the passage.

According to the passage, the fear of not belonging often creates a bandwagon
effect.

A “sense of belonging” is a basic social need, and one may feel more pride and security by conforming to the popular group.(1%)

olN BES F28 4 Ut

4. According to the passage, which is a good example of the bandwagon effect?

v a. Some voters decide at the last minute to go with the expected winner.
b. As people get richer, they are more likely to buy themselves a car.
c. Some customers want the best, so they will buy at a high price.
d. If people were rewarded for helping before, they are more likely to help again.

a2 THE 2E ARS0| sl A= A2 Bith'E WS 20jst22 RAEXIS0| 2ol 25 GlYXIE XIXleh7 |2 2Yitk= a7t WS guel 22

21 HlS2lsk(Veblen Effect): SS2CH E20(7LE BT HOIM HIM SHUSE Al2in Ex Q1Zte| M2|S i AH| &
£E51KSnob Effect): Bandwagon Effectet= BITHZ CHE AIZS0| Fish=s 22 TYSHA| 21 g5u 7EE & U= S0lst7LT S8t

=S FolistzAt oh= A

| STORY MAP

How did the phrase “the bandwagon effect” get its meaning? Fill in the blanks.

(1) Candidates rode . Today, it’s a metaphor
. People tended to jump e
around in bandwagons meaning “to do
. on the (2) wagon -
to draw attention what everyone

with more supporters.

from the supporters. () else is doing.”

wagon candidates else

The Bandwagon Effect | 15



Self Review

VOCABULARY

Complete each sentence using the words from the word box.

aspect odd essential candidate
conform originate phenomenon

1. He became a presidential candidate  for the 2010 election.

2. Eating healthy foods is just one aspect of a healthy lifestyle.

3. A lot of our medicines originate from plants.

4. It's odd that nobody told me about this before.

5. Reservations are essential if you plan to eat there on a Saturday evening.
6. An earthquake is a natural phenomenon

7.

Many of those students walk, talk, and dress alike; they conform to each

other.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. What does the expression ‘jump on the bandwagon’ mean?

It means to do the same thing as everyone else.

2. Why did candidates’ wagons have bands on them?

They drew the attention of the crowds.

16 | Reading 02



Red Crabs on Christmas
Island

| WORDS |

Match the words with their correct meanings.

1. migration d a. put something into a liquid and pull it out again quickly

2. annual _Cc b. rising or falling very sharply

3. steep b c. happening once a year

4. dip _a d. the movement of large numbers of birds or animals from one place
Bl to another

5. impressive h e. about; almost exactly

6. driveway e f. the area or road between your house and the street

7 approximately e g. without any doubt; certainly

8. definitely g h. deserving attention, admiration, or respect

| EXPRESSIONS |

o make it to: succeed in getting somewhere ~of ==ttt ~of oj=c
Almost a million red crabs never make it to the ocean.

Red Crabs on Christmas Island | 17
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TRACK 03 | WORDS 337

=2 . . . .
Az anks 4o #2 A Every year a strange sight can be seen on Christmas Island, an island in the
ol oFof| 9l Aol FalA
obe AellAls v ol - Indian Ocean. Although there are 14 different types of land crabs on the island, it’s
: 5 gl ‘ o (AR Tt Btz ) HE
the red crabs that make the most amazing migration.
J — Mt is ~ that, Z&27=

When the first heavy rain falls on Christmas Island around October or

5. November, the rainy season has officially begun. This is the signal for red crabs to
,//jo}t}. } IO 2o 7\ 0\7}
Qe 015 AehE 450]
o oF 19] 28 nhele) AlE
o] & _Lo-H 9l o)A et

ez 2ol o ekl holes in the forest and walk to the ocean! To get to the ocean and look for a mate, the

begin their annual migration. Approximately 120 million crabs come out of their

red crabs walk through the jungle, across roads, through towns and down steep

o].g].]i o}/ r} 7/] 3
O &4 7H=g|, wjujz A\ A

cliffs. They go everywhere, sometimes onto driveways and even into houses!

cag e A otor &
o|7}7| 742 sheH

Ao W ohele) Fe Ak . o
Je o e w2 = die along the way. But every year more than a hundred million red crabs walk for
W] Az vfeo] Eean
zach 2eu ool nearly 18 days, surviving the dangerous journey to the ocean. The males take a brief
ool Be Aol 79l 182
et o] uhkzo] SIF% of
oAl Aopeet, 4
HlgHE o] 7k Bo o U . . . . .
. ; s oo o | After mating, the males return to the ocean to dip again and then begin the trip home

=07 /io{/h\ &A1 7] > Q2 &M .

el £452 vz 15 ON land. In about two weeks, the females lay about 100,000 eggs each in the ocean
HEobt o Bl BE B2
Fol, 4719) gl Foze) “ and then return home.] After another month, baby crabs hatch, making the same

g A9, o 27 'f'“)” il It is7 MEIoH Ite o 2ol LB gHect,

S e 00l journey their parents and other crabs have made for generations.’Pretty impressive

10 Almost a million red crabs never make it to the ocean because they get lost or

dip in the ocean water, and then walk to the nearby forest to mate with the females.

e =ua o considering they’ve never been there before and don’t have road maps!

:0} s /ﬂ H .':n:o} )HQIE, \K/) 0 o“iﬂ" ﬂ[\l )\H //‘ 7{“:0‘ 7\0” /} l;l x\F

2 w8 7H] T YA Grhe 24E Tels) BE o2 elgHolty Although the crabs make driving difficult
58A SO V(SA) O(==o) OC(= =0i)

and frustrate people, no one on Christmas

=
=
L=

Island wants to get rid of them. Many people
Jlaso 2z H=0]

consider it a privilege to watch the annual

migration. The locals don’t get any benefit from

= =
X Fels

the migration; they can’t cook any of the red

crabs because this type of crab can’t be eaten!
Even so, it’s definitely worth dropping by
Christmas Island in December or January to

watch a blanket of red crabs migrate to the
L —ws 2= fois=(red crabQl £7F AL M=
ocean and back. ze z=sb| 2ls 2 58
ex. a blanket of snow 2 F2|€ FE2 &=
a blanket of fog && 21

0] £ oA RS AR AL SR, Lol soks Al e AREEE ol 2 LA gl 0] S r, e ARHEE A5 9 0)5 4
AR & Slekn o2l o A9 2USL 1 oJF O ol oS 24 Faae], o7 e A B8 4 glojA] 50| B P4 gl7] ol 1
Yo} slelehs B RF RS O ASo] vtk ol EUTH} thA] Bobrks 242 AARY] 913 128010t 19e] e Ank Mol 7k 52 el o
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1. What is the best title for the passage?

a. Red Crabs: Nature’s Top Survivors
v b. The Long Journey to the Mating Place
c. Red Crabs Invade the Island for Food
d. Christmas Island: The Home of Wild Animals

F= ZIS0| ®AT|E 517] fIsl £0llM HICHZEX| 20 2I&et (S Bitts L2 22 71 & Y=et MI=2 bolch.

2. According to the passage, which is true about red crabs’ mating habits?

: : - 19 249 0f2] & P WAL FE A=
a. Most red crabs .dle jbefore gettmg to the mating place. ... (oo o (om)
b. Red crabs’ mating is done in the ocean water. — =xel soix =7 sict. (132)

v c¢. After mating, the males begin the trip home first. a6

d. Female crabs teach baby crabs how to find their way home, - o//% 7= == @@ 7= @01 Gl

3. What can be inferred from the underlined part in the last paragraph?

v a. It is difficult for other people to watch the annual migration.
b. No one on Christmas Island wants to get rid of red crabs.
c. It’s worth visiting the island to watch the annual migration.
d. Not many people on Christmas Island watch the annual migration.

Ed(privilege)olzt CHE AlZoilAl= gl= #zloch

| STORY MAP

Write the letters to show the long journey of the Christmas Island red crabs.

( 7 ( 1
To look for mates, After another
many crabs walk month, baby crabs
to the ocean when |=»| (1)c > (2a ->| Qb ->| 4d =» | hatch and make
the rainy season the same journey
Kbegins. ) ktheir parents did.

a. The males go to the nearby forest to mate.

b. The males return to the ocean for a quick swim again and return home.
c. When the red crabs get to the ocean, the males take a quick swim.

d. The females lay eggs in the ocean and then return home.
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

approximately made it steep dipped
definitely annual migration

1. He dipped his hand into the water to see how cold it was.

2. The Science Museum is very interesting. It is definitely worth a visit.

3. These birds make a(n) migration south to a warmer climate.

4. If there are no delays, the plane should be landing in approximately 20 minutes.

5. This hill is very steep . You should only ski on it if you are an expert.

6. They go on a school trip every year. It has become a(n) annual event.

7. The climbers finally made it to the top of the mountain.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. Why do red crabs walk to the ocean in the rainy season?

They go to the ocean to mate. / They go to the ocean to make baby crabs.

2. What happens to some of the crabs on the way to the ocean?

They get lost or die along the way.
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. Zl- Gomg Dutch

go Dutch: HI2E ZIxt 2E5iCt (Dutch pays 222IA)  * X 0l(Dutch treat)
2174 H2 A2 X7 |7t BEECE X22 f2[7t £5| A8sk= HX| Hol=
Z=2= 7310|0{ “Dutch treat” L= “go Dutch” 50| 2HIE ES0|Ct. 0l
| WORDS | MARoZ MEstE siLte| #&0|X|2H “Dutch’2te E80| A0|A & A7 =
JcHx| 2™X0IX| edCh 17AM17| 2t F=2at ZREE 3Rkl 2 W‘“Z

=21 US

X|=dl oltiRE F=ZUS2 “Dutch’2h= Tojof 22 &=l o[0|X|S

Match the words with their correct meanings. 2o usac Duich comion(a2x] 22 #12). Dutch courage(@i)

G T

S0| 2 ofjo|c}. HX|H0|E 5h= Dutch treat®= 2HIX| gf2 &Ho|7l= o

1. false a a. not true or real HBIX| Q=CHaks Mo treat at all0l2Hs SEoIM L2 ESHo|ct,
2. defense  d b. suggest something without saying it directly

3. surrender ¢ C. af\DgEt[ﬁéAlgontrol or use of something to someone else

4. imply b d. the act of protecting something or someone from attack

5. contrary  h e. not right or just

6. route g f. very angry

7 outraged g. a way from one place to another

8. unfair e h. completely different from something else

| EXPRESSIONS |

o block off: completely close something such as a road =:jsict
In 1667 the Dutch boldly blocked off the Thames River near London.
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Reading 04

TRACK 04 |WORDS 293 —————— Germany(52) - German(S2l)

the Netherlands(HE2t=) - Dutch(W22t=2))

The word “Dutch” originally referred to Germans, and even today, the word
“Deutschland” means Germany. But in present-day English, “Dutch” refers to people
and things coming from the Netherlands, the country on the coast of the North Sea

I
between Germany and Belgium, which is also known as Holland.

5 There are many English expressions that include the word “Dutch.” Most of
them have negative meanings. For example, “going Dutch” means that each person
pays his or her own way. “Dutch courage” means false courage or bravery gotten by

7| 82 RKl=sict

drinking alcohol. A “Dutch uncle” is a person who gives unwanted advice. A “Dutch

concert” is just a lot of noise and no music. A “Dutch defense” means surrender, » ==
v, 1.9Aq Ft

10 although the Dutch never surrendered an inch of their homeland without a heroic , gﬂiiq
fight.

In these phrases the English imply that the Dutch are cowardly and cheap. Yet

QlAst

s TSI 0l= G2 12UXI= LHFX| 22ACH = EA =8 =o| gick= 2jo)

the rest of the world views Holland and the Dutch people much differently. When
most people think of Holland, they imagine huge fields of tulips, tall windmills and

15 children wearing wooden shoes — pleasant and positive things. So why did the
English take such a contrary view of Holland?

Before the 17th century, the Dutch were respected in English writing and
CF! O|
language. But as the two countries became interested in the East Indles they became
S0lE(QlE- OIEWIH\E—H%}— OtAlote| SEfH)
rivals. They competed to control sea routes leading to the East Indies and the
controle| =011 =X042
» valuable goods found there.| The Dutch and the English fought three wars at sea
» Q3 ©AM

between 1652 and 1674.]In 1667, when the Dutch boldly blocked off the Thames

River near London, England, the English were outraged! It was during this time that
L titis ~ that 2xTe ]
the unfair war of words began. Today relations between the two countries are quite

friendly, but the old phrases remain.
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1. What is the passage mainly about?

a. when Dutch words began to enter the English language

v b. how the English used Dutch as a word for something bad
c. why there were wars between England and the Netherlands
d. how we can enlarge the knowledge about the word “Dutch”

FojollA Dutchzt 20| ZatEl 272t I X2 AVHE £ off I8 QoSS 27| =IU=XIE 2Fsh= S0Ich

2. We can infer that if a soldier took a “Dutch leave” he left his base .
=51, 5t
a. to take a walk
b. to go on errands w== s
c. with a companion
v d. without permission

Dutch7t £0{Z #EFE0| 25 230l olo|E 21 222 Dutch leave= 2801 ol0|2 X|WCh= HS F28 4

3. Whichis true according to the passage?

a. Many Dutch expressions in English came from Germany. 2
b. Belgium, located near the Netherlands, is also known as Holland. 4=
v c. In the seventeenth century, the Dutch and the English were enemies.

d. The original meaning of “Dutch” refers to the people in the Netherlands. 1
165212t 16741 Afololl Z=Tt UZRt=r} BRtS ooz 1741710 S Ligks Sl Zolct 22 20~218 &z

4. The passage shows that a change in the relationship between two countries
can

a. result in the birth of a new sign language
b. end the war and lead to a peace treaty == s

v c. create new expressions referring to each other
d. lead them to compete to produce new weapons

5 Li2t Ato|Q] &HAIZF LHhX| R} e =712 XI&Sks #R40| LihiChs S=at W= oolM EE HE =+ UCh

E22siM

ZtA} ulg A &5}
Dutch#h & €2 5UQ15S A

%125 Hollande}il = ‘Q'UVJ L}L’] 2 L||H,
Dutch®t &< =

courage:= <

Dutch detense* HW = ‘ﬂ““’

15 ojujgitt, Zeiu 2599 JojolA Dutche Half siehrtol 9lal SUat Wl7]of Afo]oj|

. olE E°l, going Dutchi= ZHA7}F AF419] 58 AlEgith= ¢njolct, Dutch
Algtoltt, Dutch concertys 14 ST 715 "J #5oto] ofd Hojrt,
: S} ofn]3ie).

ol &5 : 1 GZZJOWI °J*JJ6'H' -7;“’ %“@'fl'. hM 1 e UEHES UERE ARGEE
o] Af Y, 28 2 290 YA 412 ofol ST} 2 Aol AL ATk 2ok JRASE 9 bR
oiel 17 ARk A

174]7] oA Y 0] Zab olojol|A] 2F |9t g F el Solke] BAS 2 HS 1 25S AR Ho| HYt) 15 Bor R M= g R
OF T3kl A WA sl etslr] flell AAE ek UdHE AlET 4= AFRES 1632L1 7} 1674 Atolo] vitto Al Al o] HAE A|5icE, 1667d0 Ul

Z}r /L)&;}-Lo LH 3 1 < Q) HU /1 ’ t-JA].hu‘ r[H m L /\} Lf,o ﬂlr%{rl.r 3 ﬁﬁ} /Hx{( VW)UW A}x]—qo\r{ /]o H}.—' U} /‘V‘ A?W:"l?ith Q,“:LJ»
% et Ajoe] B o B AT A HEFES 0|2 olaleh
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

outraged unfair false contrary
surrender route implied

1. The soldiers were forced to surrender their weapons.

. Early reports implied that his death was not an accident.
. The man didn't tell the truth. He gave a(n) false name and address.
. The airline route from Seattle to Tokyo goes over the North Pole.

. The two men gave contrary answers: one said “yes"” and the other said “no.”

. Customers were outraged by the price increases.

N o o b~ W N

It's unfair for them to be allowed to leave early if we can't.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. Why were the Dutch and English rivals in the 17th century?

Because they competed to control sea routes

2. Why did the English get mad during one of the wars?

Because the Dutch blocked off the Thames River and could not travel to London
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Scents

. 5 Flowers Losing Their

| WORDS |

Match the words with their correct meanings.

1. scent b a. join together

2. gradually c b. apleasant smell that is produced by something

3. demonstrate d c. slowly, over a long period of time

4. bond _a d. show or prove something clearly

5. pollutant h e. produce babies, young animals, or plants

6. generate o f. produce or cause something

7. readily g g. quickly and easily

8. reproduce e h. a substance that makes air, water, or soil dangerously dirty

| EXPRESSIONS |

o apply to: affect or relate to a particular situation or person ~o zig=ct
This famous quote applies to the world of advertising.

o what'’s more: in addition #icit

What's more, flowers and plants would not be able to reproduce as readily.
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Reading 05

TRACK 05 | WORDS 299
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“Doing business without advertising is like winking at a girl in the dark. You

know what you are doing, but nobody else does.” This famous quote applies not just
L knows what you are doingg #= thSAt
to the world of advertising, but also to the world of flowers today.|Flowers have to
> Q2 £t
“advertise” their presence over a large area by using their sweet scent to attract bees

and butterflies.| However, flowers have gradually been losing their scent because of
increasing pollution levels in the atmosphere.
Scientists at the University of Virginia recently created a model demonstrating

(HrE) =2, =Y

how a flower’s scent molecules travel through the air. They discovered that|the

=Xt »Q3 &

molecules of scent that flowers produce bond with pollutants like ozone. The

S . . v
bonding generates chemical reactions and destroys the scent,| so the smell of the
(rave) BN AR
flower no longer travels as far as it used to! Without a long “scent trail,” pollinators
. ) L 3prio AN TS Ltets 20| OfLIa} BiAlet Bt
like bees cannot find the flowers they need for food. 7= ciuinz i Agsis meiozu, o= e

ol XIZ2 JZX| gtt'= AS HEfH)

Two hundred years ago there was much less pollution in the air. Scientists
believe that back then the scent of flowers could travel almost as far as 1,200 meters.
Today it only travels approximately one-quarter of that distance. For this reason,
bees and other pollinators must search over greater distances and use their sense of
sight as well as their sense of smell to find the flowers.

What would happen if the bees couldn’t find enough flowers? Flowers provide

bees with nectar, which is their main food source. If they weren’t able to find enough
st 23 . .
flowers and nectar to go around, bees wouldn’t be able to maintain their population.
(S4iZ 50)) 2E oloj = Sopict '
What’s more, flowers and plants that need bees to spread their pollen would not be
ESTE R
able to reproduce as readily.[As a result, the diversity of plants on Earth would
> Q4 EtA

greatly decrease as would humanity’s food resources.)
as humanity’s food resources would greatly decrease
OllA HH=El= greatly decreaseS MEtst F0{et ZEAIE
SRl 72




1. What is the best title for the passage?

a. Pollution Levels Are Increasing
v b. Air Pollution Kills Flower Scent
¢. Where Have All the Pollinators Gone?
d. How Do Flowers Advertise to Pollinators?

7] @¥o| S7t2 Qs 2= &7[7F o™ECt Ha| 0|SSHA| Rall Hatk LH|7F HAS &t £5 377t o &S0t &2 2o|ch

2. The underlined phrase in paragraph 1 implies

a. finding enough flowers and nectar without going far
b. bonding with pollutants without destroying scent
v c. inviting bees and butterflies without giving off a scent
d. collecting a flower’s scent molecules without causing pollution

Z0f| HIF3XIH doing business= Hat LIHIE |/lsk= Z0]1 advertising 7|8 U&= ZAolct, 22 3~63 =X
3. According to paragraph 2, what happens if the flower scent meets ozone? Complete
the sentence using proper words from the passage.

Scent molecules bond with ozone and it destroys the scent.

87| BAIS0| @FT} 22 9 BHN ZESHL, 1 ZeIS 53 $ISS YO WS TIAIZICH: HS U 4 Uk B2 8108 A

4. According to the last paragraph, what is the long-term effect of pollution on nature?

a. It will cause bee populations to disappear very quickly.
b. It will prevent flowers and plants from producing pollen.

v c. It will cause a decline in the number of plant resources.
d. It will severely poison human food sources.

As a result, the diversity of plants on Earth would greatly decrease ~(22%) &tz

| STORY MAP

How does air pollution affect the number of bees after all? Write letters in the boxes.

Air pollution => ()b =2 2a = ©c

a. It is hard for bees to find flowers for nectar.
b. Flowers lose scent.
c. Bees decrease in number.
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

reproduce demonstrated what’s more scent
generated gradually readily
1. The air was filled with the scent of wild flowers.
. The program generated @ lot of new jobs.
. The study demonstrated the link between poverty and poor health.
. Good food is readily available anywhere in the country.

. The turtles return to the same coast where they were born to  reproduce .

. Her boyfriend is intelligent and handsome; what’s more , he respects her.

N o o A~ W DN

. The temperature changed so  gradualy ~ we didn’t even notice it was getting
warmer.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. How do flowers attract bees?

They attract bees through their scent.

2. Why can't the bees find the flowers easily?

Because there is a lot of air pollution that destroys the flowers’ scent
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. é The Origins of Golf Terms

| WORDS |

Match the words with their correct meanings.

origin

1
2. eventually
3. stroke

4. evolve

5.
6
7
8
9

skilled

. accuracy

rare

. further

9

b

a

e
a4
9
i

|

h

. possessed

-« -~ 0o o 0 o 9

the action of hitting the ball in games such as tennis or golf
in the end, especially after a long time

the place or situation in which something begins to exist
having the training, knowledge, and experience

change or develop slowly

not seen or found very often

the ability to do something without making a mistake
controlled by something evil

. to or at a more distant place or time
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Reading 06

TRACK 06 | WORDS 334

7128017} OlLI2} gOIfE EH= AIAIHZAIOLT understande] 2lnlat Zxofolct,

All sports seem to have their own special language and golf is no exception.
Anyone who has watched golf on television has heard terms like birdie and bogey.
But many people don’t know the origin of golf or the origin of its unique vocabulary.
Learning the history and language of golf makes it easier to understand.

5 Golf started in Scotland many years ago. When shepherds got bored watching
their sheep, they took sticks and hit stones into rabbit holes. The game became more
complex as they counted the number of times a player hit the stone before it got into  » a1 =
the hole. Eventually the stick became a golf club and the stone evolved into a golf

‘Hatol Zup's ol

ball. But the idea of the game has remained the same: the fewer strokes it takes a —

10 player to get the ball into the hole, the more skilled the player is. ox. with ease = easily
with great skill = very skillfully
The most important skill in golf is to hit the ball a great distance with

. . . . = accurately
accuracy. Each hole in a game of golf is given a “par.” The par is the number of
(that) -
times it is expected‘a golfer must hit the ball before it goes into the hole. Being
]
“under par” means a person hits the ball fewer times than expected.

15 Other golf terms may have gotten their start in Scotland’s countryside. For
example, the way balls “fly” through the air is often compared to types of birds. One
stroke under par is a “birdie.” An eagle (a more amazing bird) is two strokes under
par and|an albatross is three strokes under par. Albatrosses are very rare in golf, like
in naturé.Qﬁigwn for flying further than almost any other bird, an albatross is what

2 every golfer hopes to hit.|

A bogey means that a golfer hits one stroke over par. The term “bogey” comes

from the United Kingdom and means a ghost. When someone says a golfer got a

bogey it means they hit the golf ball so badly that they seemed possessed by a ghost!

a golferg = thiFAL golfere| Mg gfslXx| 247| 20l theyE ARZ3ICH he or sheZ 27|= SiCt

= - 2o 2o Ha| UHEZ A(albatross): 7|& Et4=ELCt 3EH XS AT
ZAzi2|(gallery): 2= Z7[2| #&Z 2 THover par): Et7} 7|1F EtELE 22 AT
Hpar): 5tLte| 22 0|7 |[7EX| el 7|1= Efs 27|(bogey): 7|& EtSECH 1EF 2 AT

30 | Reading 06 H T under par): Eb=7} 7|1%F EREL B2 AT0] He &7[(double bogey): 7|F Et-EC} 2B 2 AT
HEl(birdie): 71& Et=ECt 1EF M2 AT 0] E2|Z 27|(triple bogey): 7|& Et+HCH 3EF B2 AT0|

O|Z(eagle): 7|& EtECH 2EF M2 AT0] E2&(hole in one): 1EIZ =0l 32 2= A



1. According to the passage, how did golf start?

a. It started as a set of self-defense skills.

v b. It started as a way to pass time enjoyably.
c. It started as a gamble where people bet money. =< = =uoz Axspcy
d. It started as a means of training future military officers.

LR|7|S0| Y= SELIt XIFSHA BitH7 |2 SHOIE MM FHo| 22 AlUoAM FehRictae dEsta Ack

L =2o

2. According to the passage, all of the following are under par EXCEPT:

a. birdie = 1o b. eagle = ooyt
c. albatross = zeicin v d. bogey = 1eui
27|(bogey)= 7IZ Et=E2CH 1EF Cf E0| 21 Z4g 2loj(21&)st=2 drt FHEolch

3. Fillin the blank using a word from the passage.
Birdie refers to the instance where a golfer finishes a hole by hitting the
ball one stroke under par.
717 ERemCt 1EF A 7 RS Hicl(178)oIct,

4. According to the passage, which is NOT true about “an albatross”?

v a. It is even worse than an eagle.
b. It is the score of three under par.
c. Itis a very rare bird and very rare in golf.
d. It is very hard to get, so it is a golfer’s dream.

Ml eHtERAE= 2Q1Cjuel 0|20 of 2 Tl A0|22, avt 22| LHE1t YXISHK| ¢4=Ct.

E225A
Ed MM 714
HE AFZoE 1 FETe] BT Goj7) 9l A Y Holi=r| = ool ofyr, daju) oA : [ e ER] Hrjof BY) 22 golg Bo] B
=3 JLIL}“W AHFO °l %WM Eot 2 gojo {elE L Zxo| oot olo g e A - ag 4= ol
QHH HOH W&l o 855 WJ.; = Zlo]| 4Zol & o iz 5 HolEa EWolE HA E7] @l HolWolrh ozt 1Y o8 So
% | B4 A w7 ZEArE E9lT ol o R WAt Teuy 11 Alge] 2 *J% o1715] L3kt
2 gh ©f 7]&o] FHold Zlojot,
\L|+ e IL HOI o ZZ AIgol|A] Zbzte) %{41—&- 715 BRETE S0l 71E Bl B0l Eofl Eof7t] Zof Zu)
ATt 3% o] AA Hrhe AS oulgitt,
; :01 To| FFOE ok t”*l_ % ofel F7 Aol vl 71E BeRnt 187 28

fP ZE} 12 Zlo]aL, dHlE

= ¥ =k 7| ekt 34 e Zlojtt, YHIER A= ﬂo‘,oﬂ*'lﬂ  FLOJA = o} 37
oF 4 51 A2 Sfel] HEB AL BE BGo) 271 ek Aol
| A= A& ouigit, ‘Hr)ehs ol dolA frefilon W & (’1”1 tot, ZH7F B715 Hokal of| Abgho] Wk uf 221
1% FHigiol A4 A0l 52 AN HSlch 22 ez
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

origins further evolved rare
accuracy skilled eventually

1. He passes the ball with high accuracy .

2. The new theory will explain the origins of the universe.

3. Itis very rare for her to miss a day at school. She never gets sick.
4. The company has such highly skilled workers.

5. The road ended and we couldn't go any further :

6. It might take him a long time but he'll do it eventually .

7. Some people believe that birds evolved from dinosaurs.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. What does a ‘birdie’ mean?

It means one stroke under par.

2. After what did the shepherds name the number of strokes?

They named the number of strokes after birds.
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. 7 The Deep Sea Anglerfish

angler= someone who fishes with a fishing
rodek= 520Ict. makM HAlskE 217]'2k= 2ol
A anglerfish2k= 0150 2ICk

| WORDS |

Match the words with their correct meanings.

1. notice d a. take something into your stomach through your throat

2. swallow _a b. being the largest amount or number possible

3. maximum b c. the places, conditions, or objects that are around you

4. surroundings ¢ d. become aware of something or someone by seeing or hearing
5. mature (v) g e. suffer or die from lack of food

6. weaken _f f. become less strong

7. starve e g. become fully developed in the body and mind

8. nourishment h h. food that is needed for health or growth

oo 2 Al
oo, @

| EXPRESSIONS |
o blend into: gradually become the same as ~et s40lct

An anglerfish sits on the seafloor, blending into its surroundings.
o sort of: in some way or to some degree i, ofzt

Instead, it sort of moves from side to side through the water.
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Reading 07

TRACK 07 | WORDS 319

You probably know that some fish eat other fish, but did you know there is one

fish that has its own fishing rod? The anglerfish, found in deep parts of the Atlantic
AL
and Antarctic Oceans, has a long rod-like fin that looks like a worm.[Using this
> Q2 X
special fin, the anglerfish “fishes.” This is why it is called the “anglerfish.”]

5 An anglerfish sits on the seafloor, blending into its surroundings. The only part
of its body that other fish notice is the fin. The anglerfish hangs the fin in front of its
open mouth. When another fish sees the fin, it thinks it is a worm. The smaller fish
swims closer and the anglerfish swallows ifa.nomer o

Although they sound frightening, anglerfish are small, reaching a maximum

10 length of 12 centimeters. The color of the anglerfish can be brown, dark gray or

black. An anglerfish has soft flesh and bones, and small eyes. Because of its round

(17t s=9) &

body it cannot swim very fast or straight. Instead, it sort of moves from side to side

through the water.

The male anglerfish is smaller than the female and looks completely different.
15 The male is the size of a small finger and is black in color. When he matures, his
digestive system weakens, making it impossible for him to feed on his own. He must
find a female or starve. With his hooked teeth, he attaches himself to the female. He
S bites into her, releasing an enzyme to break down
t}%lg glfnE }of his mouth and some skin on her body.
The two fish blend together and become one. Even

their blood vessels join, becoming one system.
The male spends the rest of his life living
like a parasite, getting his nourishment from her
body. A female anglerfish can carry six males on
her body at once. A single female anglerfish is

NG
responsible for feeding herself and all the male

anglerfish she carries.
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1. What is the best title for the passage?

a. The Life Cycle of an Anglerfish
b. New Species of Anglerfish Found
v c. Anglerfish’s Amazing Survival Skills
d. The Wondrous Mysteries of Anglerfish ool =z 12

oF, £3| 42 OF7H ol OfE A &ok7h=X|ofl thall 7|&dta Tk

2. The anglerfish is so named

a. for its strange appearance

b. because it resembles a worm
v c. for its method of catching prey

d. because it lives in the deep sea

Using this special fin, the anglerfish “fishes.” This is why it is called the “anglerfish.”(3%) &=

3. When the male anglerfish grows up, what does he do in order to survive? Answer
in Korean.
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4. Which is NOT true about the anglerfish according to the passage?

v a. The mature male has a long fishing rod of its own.
b. The anglerfish is unique in its appearance. oz
c. The mature male cannot live without a female. ez
d. The male is small in comparison to the female. 1z
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

swallow starve maximum mature
nourishment surroundings weaken

1. To get the maximum benefit, do the exercises slowly.

. The soil provides nourishment for plant roots.
. Girls mature earlier than boys both physically and mentally.
. Thousands of people will starve if food doesn’t reach the city.

. World oil prices rose and the economy began to weaken .

. Chew your food well before you swallow .

N o o b~ W N

They will need some time to become familiar with their new surroundings

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. What's the thing hanging in front of the anglerfish?

It’s a fin that looks like a fishing rod with a worm.

2. What happens when the other fish come along to eat the worm-like thing?

They end up getting eaten by the anglerfish.
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. 8 Yves Saint Laurent

| WORDS |

Match the words with their correct meanings.

1
2
8
4
5
6
7
8

| EXPRESSIONS |
o bring about: cause ~= =51t

normally

. dominate
. put
. promote

mass-produce

. employ

custom-made
— ready-made

. main

Cc

>« -~ 0o o 0 T 9

say or express something

have control over someone or something
usually

make something more popular, well-known, etc.
produce very large amounts of something
made to fit the needs of a particular person
most important

give someone a job to do for payment

We do not expect fashion designers to bring about important changes in society.

o consist of: be formed or be made up of ~z 7=/

A woman'’s suit of clothing consists of trousers and a matching coat.
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TRACK 08 | WORDS 312
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We normally expect fashion designers to create attractive clothes, not to bring
about important changes in society. But that’s exactly what Yves Saint Laurent did.

The famous French fashion designer dominated the fashion industry for more
than four decades before his death in 2008. One of his creations was the pantsuit, a
woman’s suit of clothing consisting of trousers and a matching coat or jacket. Saint
Laurent introduced the pantsuit in 1966, when a large number of European and
American women were entering professional careers.| They wanted to be treated as
equals with the men who were doing similar jobs. But ‘:I%ygﬁad been forced to wear
gk%if?st%\rx/hich set them apart. Pantsuits made them look and feel equal.|As one
woman put it, “When you wore them, your legs took longer steps; men looked at

‘eUBIT}, EHGICHO| 02 M M= HE itnt B MolCt,

your face, not your ankles, and were forced to listen to the words that came out of

your mouth.”[Saint Laurent’s design encouraged the growth of women’s confidence
> Q2 A

and power in the working world.|The pantsuit has been called “what fashion gave to
T HolUE(Feminism)2 0l B2 of4xI9l 212 olnfsks femaled] 0RE £ U= B0IZ, 0N BAA L oiNY XIF SO
feminism.” cloi2 mste oy Z5 olAlz LERICt Q159| oA 022 4 BAMo2 Agslo] 2 2lzio] Aol thet BES 'Eof 01y

ol 2Fut 42 RUNCR BZIA7|1 SSHe2E I BSE AEIE X|gfslr| /et 2y, €5 ¥ 28 des Tt

[Saint Laurent also helped change the attitudes of white people towards other
races. i{Qg \E;vils the first designer to hire black models in his fashion shows, and one of
the first to employ Asians.|By promoting the image of non-whites as beautiful and
glamorous, he encouraged their acceptance in European and American society.

Finally, he made the fashion industry more democratic. Before Saint Laurent,
French “high fashion” designers only created custom-made clothing that only very
wealthy customers could afford. But in 1966, Saint Laurent opened a store in Paris
where he sold “ready-to-wear”
clothes. These mass-produced
clothes were much less expensive,
which allowed ordinary women to

A20| F=0{Y = allowt 7+ssHAl stchel

dress fashionably.

o s
X2 Ze=rt

Although his main aim was

creating beauty, Yves Saint Laurent
EENEIE) ) .
also helped create major social

changes: equality of the sexes, races,

and economic classes.
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1.  Why did women like the pantsuit designed by Yves Saint Laurent?

a. It made them appear more intelligent.
v b. It allowed them to be seen as equals with men.
c. It was much more fashionable to wear than a skirt.
d. It helped them to keep up with men by taking longer steps.

Pantsuits made them(= women) look and feel equal.0ilA &2 & 4 UCH 22 7~ &=

2. What s the closest in meaning to the underlined feminism?

v a. the belief that women should have the same rights as men
b. the belief that one’s own sex is more important than the other sex male/iemale chawvinismizri= ¢ @zeix)
c. the belief that one country is better or more important than any other tadyismicize)
d. the belief that money and possessions are the most important things in life materiaismzzersz2)

HI2 o 2&<2] women's confidence and power in the working worldoflAl feminismel 2j0|E§ 28 4~ ULt

3. Yves Saint Laurent changed white people’s attitudes by

a. holding fashion shows in Africa and Asia

b. hiring non-whites in his fashion design company

c. designing attractive clothes for people of all races
v d. including blacks and Asians in his fashion shows

M40 SQI BH T} OFAOIRIS Z[EZ 78BN 156~17>H) 22 M 152| 0|0|X|S mh=XQl Zo 2 S3IA7] T2 QIE0l| e wiolSo| Ef=E HIRQICH

| STORY MAP

How did Yves Saint Laurent affect our society? Fill in the blanks.

( 7 (
. Helped women to be treated
— Invented the pantsuit - P
as (2) equals
. J - J
Laurant’s Effect | | | . [ Changed attitudes towards |
aurant’s Effec . . anged attitudes towards
. — | Hired non-white (1) models - &
on Society race
. J - J
( 7 4 . 7
|| Mass-produced “ready-to- - Made (@) fashion  affordable
wear” clothes for everyone
. J - J
equals fashion models
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

employing consisted of put promote
dominated main normally

1. The industry is  dominated by five multinational companies.

CFA S
. As she put it, “You can't please everyone.”

. My breakfast consisted of cereal, fruit, and orange juice.
. The company'’s main office is located in New York.

. It's a small company,  employing  a staff of only 10.

. The journey normally takes an hour, but it can take longer if there's traffic.

N o o b~ W N

Advertising companies are always having to think up new ways to promote
products.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. Who is Yves Saint Laurent?

He is a fashion designer who created the pantsuit.

2. Why is the pantsuit famous?

Because it helped women to be equal to men in the workplace
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. 9 Air Conditioning

air conditioning: 'H&&X|, 3712H HX|
air conditioner: olo174 7|A|

| WORDS |
Match the words with their correct meanings.
1. chubby c a. not realizing what is happening
2. ordinary ~h b. a desire for food
3. unknowingly _a c. slightly fat in a way that looks healthy
4. comfort (n) e d. something that covers a surface or is between two things
5. layer d e. a feeling of being physically relaxed and satisfied
6. excess (a) _f f. more than is usual, allowed, or needed
7. solution g g. a way of coming up with an answer to a problem
8. appetite b h. normal or not unusual

| EXPRESSIONS |
o tend to: describe what often happens or what someone often does (~st=) zzrol sict
Bigger people like Chubby Charlie tend to feel the heat more than ordinary people.

o keep away from: stay away from someone or something ~= =z/sict
By keeping away from the air conditioner, Charlie can burn tens of thousands of calories.

Air Conditioning | 41
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It’s the middle of the summer. It’s 30°C. Chubby Charlie feels hot and

uncomfortable. Being a fat man, he feels the heat even more than ordinary people do.
Because he is a fat man
So what’s the first thing he does? Well, he turns on the air conditioner, of course!

Recent research at the University of Alabama’s Clinical Nutrition Center
suggests that Charlie may unknowingly be making himself fatter every time he turns
on the air conditioner. People enjoy living in comfortable temperatures. For most
people, that means keeping the room temperature between 18°C and 24°C. This is
known to scientists as the thermoneutral zone.|In the thermoneutral zone, there is no

> Q2 £t
need for the body to control its temperature.|It is only when the body’s temperature is

EX=EVeL

below or above this zone that it works to return to the comfort level. Simply put, it is
~ Litis ~ that Zz=72 2cts| 2

=To put it simpl
only when our bodies are too hot or too cold that we burn calories to keep our bo dvles

comfortable. Thus, we may be putting on extra weight by turning on the air
put on extra weight = gain extra weight

conditioner.

Bigger people like Chubby Charlie tend to feel the heat more than ordinary
(~31=) FFol et

people. The reason is that layers of fat act like blankets, warming the body up. So,

fatter people typically use the air conditioning more often. This can lead to a vicious
~Z 0[o{Icf

cycle.[Fat people are likely to get hot easily. They may often turn on the air

> Q3 =AM

conditioner to cool down. Then, their bodies don’t burn calories. The excess calories

ofxat

could turn into even more fat.

There is a simple solution for Chubby Charlie:

(as you normally do)

. . Vi .
Don’t turn on the air conditioner as much:[By keeping
» Q4 TIA
away from the air conditioner, Charlie can burn tens of
~& Zafsich

thousands of calories every year. In addition, hot
people have smaller appetites. In mid-summer, Charlie
will probably eat less if he doesn’t turn on the air
conditioner. Thus, he puts fewer calories in his body.

Let’s go on an air conditioner diet this summer!|
go on a diet: CtO|{E SlCt
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1. What is the best title for the passage?

a. The Curse of a Modern Convenience

v b. Why an Air Conditioner Causes Fatness
c. The Benefits of Using an Air Conditioner
d. How the Body’s Heating System Works

00174 AbSmt | 2tof AetetAlof thsl 7|=et 20Ict k2 M2 RXIE 2loll =2
FAHH 22215 AAAZE 7|37t Ho{X|7| w20l 40| & 4~ At EFst ATt

2. Inthe thermoneutral zone, our bodies

a. spend more calories
b. need more energy

v c¢. don’t burn any calories
d. feel much hotter

In the thermoneutral zone, there is no need for the body to control its temperature.(8&)of
Ll 18=~24=9| 2E(2ESHh)oM= XM2S Molstr| 2l Z222lE At

£ gaA7l=d olofziez 2=E LS

o >

o =Rt glttn dgstu Qo

3. Which best fit in the blanks in the diagram that explains the underlined
avicious cycle?

-

You become fatter. | — ()

Being fat, you feel
than

most people.

The excessive
calories turn into —

You turn on the air
conditioner.

You don’t burn

more &)
) @) €)
a. hot fat calories
v b hotter calories fat
c. cold fat calories
d. colder calories energy

4. What are the benefits of turning off the air conditioner to fat people? Choose two.

a. reducing activity
v b. burning more calories
v c. eating less food
d. feeling cooler after a while
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By keeping away from the air conditioner, Charlie can burn tens of thousands of calories every year.(213)5E| OtX|2t 2E7tX|2|
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

chubby layer solution appetite
excess tends to ordinary

1. Mom is an ordinary housewife. She is always busy with the housework.

2. If you wear clothes in layers, that could make you look a bit chubby :

3. Denny tends to ask whatever he is curious about without any hesitation.

4. You need to exercise hard in order to lose excess weight and to improve your
health.

5. A thin layer of oil covered the whole lake after the terrible oil spill.

6. You don't seem to have much of an appetite . You barely ate any of your food.

7. We are sure that we will find a solution to this matter.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.

1. What do our bodies do when it's hot?

Our bodies burn calories to keep the bodies comfortable.

2. Why do bigger people feel the heat more and use the air conditioner more?

Layers of fat on their body act like blankets and warm them up, so they use air conditioner more.

44 | Reading 09
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Lactose Intolerance

HEUE: RE(lactose)2 2dlish= 24 (lactase)7t 2HI=IX| ot REE 437 |X| Rot= B¢

40

| WORDS |

Match the words with their correct meanings.

1. race c a. very bad or unpleasant

2. horrible - b. made from milk

3. intolerant _d c. move very quickly

4. dairy b d. not able to eat particular foods without suffering bad effects
5. tip e e. a helpful piece of advice

6. bloated _h f. unluckily

7. unfortunately g. feeling ashamed or shy

8. embarrassed g h. too full of liquid, gas, food, etc.

| EXPRESSIONS |
o cannot help something: be not able to control or stop something
Susan eats and eats. She cannot help it.
o break down: separate into simpler substance =sisict
Susan doesn't have enough lactase to break down all the lactose she takes in.

Lactose Intolerance | 45



Reading 10

TRACK 10 | WORDS 294

can't help it: 01%& 4= giCt
Susan couldn’t help it. She and her friends began lunch with cheesy nachos.

avoidel 2|o| SIZxfo| LIS HH= X|A[CHHAL X|=(E ) L=

Then they ate cheeseburgers and drank milkshakes. Things seemed fine, but then

suddenly Susan’s stomach started making noise. Her stomach hurt, and, racing to the

restroom, she had horrible gas! She was so embarrassed. She had been so excited to

have gas: 47IS FIcH= pass gas) T7s0 ~ that -, 72
5 go to lunch with her friends that she totally forgot to watch how much dairy she ate!
[ S

Susan is lactose intolerant, and eating too much dairy can make her feel really sick.
. ~ ————dairy products2l lo| .
Lactose intolerance means that the body can’t easily digest a special sugar

called lactose. Unfortunately for Susan and millions of other people with this
problem, lactose is found in almost all dairy products — yogurt, cheese, milk and
10 ice cream.

[Our body uses an enzyme called lactase to break lactose into a simpler form of
> Q2 EHA , [kteis].
sugar.] Once lactose is broken down, it’s easy to digest and it becomes great fuel for
= lactose

the body. But people like Susan don’t have enough lactase to break down all the
lactose they take in. So, about half an hour to two hours after eating dairy-rich

5 [foods, their stomachs begin to hurt and they have gas, making them feel bloated —
» Q3 EA
like their stomachs are getting bigger. Sometimes they even get diarrhea when they
HF
eat too many dairy foods.]

[So how can someone living with this problem still eat out with friends? Here
> Q4 A

a dairy-rich food like are some tips. If you’re going to eat a dairy-rich food like ice cream, eat something
ice creamE 7t2171= XIMCHEA}
2 with it that doesn’t have any dairy, like a salad or a sandw1ch without cheese.| This

that doesn't have any dairye| M8#At= ito| otL|2t something |

will help slow digestion, and your body will have time to create more lactase. Also,

eat lots of foods that are dairy-free but high in calcium, like

broccoli and soy products.
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1. Lactose intolerance is caused by

a. eating too much sugar too often

v b. a shortage of the enzyme lactase
c. low consumption of dairy products
d. poor digestion of the food you eat

lactose intolerance= S (lactose)g 2aiAl7l= /Y &all 242! lactase?t £Z517| W0l M7= Zolct

2. Which is NOT true about lactose according to the passage?

a. It is contained in almost all dairy products. oz

b. It can become a very efficient fuel for the body.
v c. It is broken down by itself in the body.

d. It is hard for some people to break down. 7z

g2 RY 2ol &2A00 ofsl FoEcta ok 22 11~128 =

3. According to the passage, which is NOT included in the symptoms of lactose
intolerance?

a. diarrhea
b. stomachache
c. buildup of gas
v d. feeling of tiredness

L2222 Y2z AEX] pUCh 22 15~V17d =

4. The best advice to give to Susan is to

a. enjoy eating dairy-rich foods fully

b. avoid eating out with friends and family

c. take digestion pills to speed up digestion =zsis =xist| s 2sts =it
v d. eat dairy-free foods along with dairy-rich foods
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

tips unfortunately help raced
dairy embarrassed bloated

1. The shy girl gets embarrassed if we ask her to sing.

2. Dairy products are good sources of calcium and protein.

3. | seem to have eaten too much. My stomach is bloated .

4. Jill knows Spain really well. Perhaps she could give us a few tips .

5. He raced into the village on his bike.

6. It's too bad that we have to leave, but | can’t help it.

7. The show was great, but unfortunately we had very bad seats.

[
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. What does ‘lactose intolerance’ mean?

It means your body can’t easily digest a special sugar called lactose.

2. \Where is lactose found?

It is found in almost all dairy products.
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Impressionism

The Luncheon of the Boating Party by Pierre-Auguste Renoir

| WORDS |
Match the words with their correct meanings.

traditional relating to towns and cities

. range ¢l a group of different things that are similar in some way
. seemingly not new, different, or modern
. urban appearing to be true but not being true or certain
all the time, or very often

. constantly something that is given to help a person or a cause

reflect show, express or be a sign of something

SQe -0 0o oo

1
2
3
4
5. perceive
6
7
8

. contribution notice, see, or recognize something

| EXPRESSIONS |
o be into: like and be interested in ~of 240 pict
Even if you are not into art, you have at least heard of Monet.
o that is to say: in other words ciu 2six, =
That is to say, they painted the objects by relying on “how"” they saw them.
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TRACK 11 | WORDS 344

Impressionism was an artistic

movement that began in the late 19th

1047 = 4 century. It was one of the most famous
solodt}, 1AL

4 ¢4 25 movements in art history. Even if you are not
2 shisieh, o] ol

ol gltt seete Aol o
Monet, Manet, 183

into art, you have at least heard of the famous

R ire} 2o 983k olAtu} . . . :

Sies) g =o woe - Impressionists like Monet, Manet, and Renoir, and have seen some

o], 1E° . . L [mounéi]  [meanéi] [rénwair]

92 Zolct. of their paintings.

st PEL FAl 4

vﬁjrﬁaﬁl ‘f‘f”f (Hwﬂ ?]1 [The Impressionists were different in their choice of subject matter and use of

A Acfst gt Q:AO*\J 3} > Q2 A

e s color from earlier generations.| Before[the Impressionists discovered the beauty of
> Q1 Bt

o ALEsL At Az

o elrer e 4w 10 everyday life,Jmost painters focused on traditional subject matters such as still lifes,

2ol 7o) ﬂ%ﬁm. o o ) still life: B2t =430
oo ot sbse 2 historical events and biblical stories. still ifes2lof 2|

/V} ”‘FOPI Fﬂ% A=) A olof7]
W9l7} WAkt

= A However, [Impressionists took an interest in the daily lives of ordinary people

A}‘— t;lE A’,e :04 oMMll§loﬂ

> Q1 Bt
TS 7HA =S Aog . ., . . . . . .
]l /Eﬂu,j o ., in the cities,| which were expanding in both size and in their range of culture and
A, olE 50], Manet?t . . . .

=2 =  entertainment. They started to paint seemingly ordinary matters. For example,

713l QAY ‘\'q: wj Ao

A ge ess s Manet and Renoir painted people enjoying picnics in the park, or just hanging out in
urban settings.
More importantly, the Impressionists changed the old conception of color.

Before the Impressionists, artists believed that everything had a unique color of its

]Jq' lmL;; 1 010
(= M R | A A - A o
A7} - A7) we] oF o !
s Lj‘j;]‘ i and leaves were green. But Impressionists saw that the color of an object constantly
o] Zelglo] wigltka Wopth,
“iﬂO\ &7k 0]

own which could not be replaced. For instance, the sky was blue, apples were red,

changes according to the amount of sunlight and the atmosphere at the time it was
s
drawn. Therefore,|[they focused on the momentary impressions of the object. That is
> Q3 £t
to say, they painted the objects by relying on “how” they saw them in that place and

at that time.|

o &
OHA\ 2

% Monet was one of these Impressionist painters. He made a series of paintings

JEEE
gr}, o] Qlae] Zizte] 1
1

0 L’}ﬁ Nl//\ 10'1 [B 3

of a single cathedral at different times of the day. Each painting in the series was a

different color, reflecting the changes in sunlight shining on the cathedral throughout

the day.
ks st S /m L ' '
2 39e ez e B Impressionism began as a revolutionary approach towards the fine arts, and
Aol bzt $2i7t A4z —
ME 2 RS QASHE &

~ soon became one of the most popular movements in art history. Probably the greatest

7% A7k A o]
o

contribution of the Impressionists is the fact that they introduced the joy of

perceiving things as we actually see them rather than as we are told to.
CHEEALR to see themoilAd
see themO| A2l el
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1. The Impressionists were different from earlier painters in that they painted

a. religious scenes
v b. everyday matters
c. famous people

d. historical battles

the beauty of everyday life, the daily lives of ordinary peoplediAd &g 3& = Ut 22 9~13d &=

=

2. What s the closest in meaning to the underlined revolutionary?

a. well designed and advanced
v b. completely new and different
c. accepted to be correct and right
d. belonging to everyone in a society
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3. According to the passage, which is NOT true about the Impressionists?

a. They created their paintings outdoors rather than in a studio.

b. They experimented with new ways of portraying color and light.

c. They enabled us to perceive nature through the filter of impression.
v d. They painted objects in abstract styles than capturing them quickly.

they painted the objects by relying on “how” they saw them in that place and at that time.(23&)0llA QA T} SH7HS0| £7HXQ1 QI

ZHS WFACE WS o 2 ATt

| STORY MAP

Fill in the blanks using the words in the box.

Comparisons between Pre-Impressionists and Impressionists

s . . M b N
Pre-Impressionists Impressionists
. Focused on (1) traditional Focused on the (8) beauty
Subject Matter . .
subjects of everyday life
. (4) different ] h h
What happened = Used (2) specific colors Used : COTOrs to show how
1 they saw something at different

afterwards for specific objects :

L (5) times and places )

specific times beauty traditional different
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

urban perceive constantly into
range traditional seemingly

1. Cats are not able to perceive color.

. He has a wide range of knowledge and experience. —= zugfsi=ge] xiam z2

ZEX|3L AT

o

. Jason's really into classical music.

A W DN

. His views on marriage are quite traditional . He says that the wife should stay
home with the children.

ol

. London is the largest urban area and capital city of the United Kingdom.
6. The English language never remains the same; itis  constantly  changing.

7. John was asked to do a(n)  seemingly  impossible task, but he managed to get it
done.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. How did Impressionists see the color of things?

They saw that the color of things changes according to the sunlight.

2. Why did Monet paint the same cathedral over and over?

He was trying to describe the different impressions he had on the cathedral at different times of the day.
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2 The Mayan Numeric System

| WORDS |
Match the words with their correct meanings.
1. numeric  d_ a. a small round mark
2. dot ~a b. a straight line or section that is longer than it is wide
3. bar b c. belonging to a time that was long ago in the past
4. ancient c d. of or relating to numbers
B, sum g9 e. be a sign or mark that means something
6. represent e f. the hard, empty shell of a small sea creature
7. seashell g. the result of adding two or more numbers together

| EXPRESSIONS |

o be based on: use something or be developed from something ~of 71z5ict
Their numeric system was based on 20, not on 10.

o amount to: produce a total when added together z77t ~oj ojzc
Added up, it amounts to a sum of 12.
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TRACK 12 | WORDS 239

How did the ancient Mayan people count numbers? Their numeric system was

based on 20, not on 10, as is our own. Perhaps they used fingers and toes for

as our own system is based on 100llA Bt El= based on 100| M2f=11 F0{2 beSA7t
ZX|E F20Ic as CHEolle T (R)SAe] =X|7F BF ofitct

counting.

In our numbering system, if you put the number one ( 1 ) next to the number
zero (0 ), it becomes the number 10. But in the Mayan system it is different: if you
put the number one ( « ) above the number zero (& ), it is equal to 20 ( dp ). Our
numeric system has ten symbols to show all the numbers. Mayan numbers could all
be written with only three symbols: a dot for 1, a bar for 5, and a seashell-like

symbol for 0.

<o

1 5 0
Using these three symbols, the Mayans could write out any number from one
to 19. How would the Mayans write the number 12, then? They would write two
bars, each representing five and two dots, each representing one. Added up, it
If it is added upg EAtE2=2 1

CHS beingO| M2fE EfO|Ch 2AZ
Ol being2 CHIH M=FEICE,

amounts to a sum of 12.

GIGES

—

”
How did they show numbers that were higher than 197 In our counting system,
the number forty-six, for example, is written with a “4” next to a “6.” The “4” is in

the tens place and represents 40 (four sets of ten). And the “6” is in the ones place,

10%tl, . ) EEETN
representing 6 (six sets of one). However, in the Mayan system, there is a twenties
20xt2]

place instead of a tens place. Look at the example below to see how they wrote the

number 46:
a3 otokel =xt 7| (0~19)

0 1 2 3 4
p2|aOCSe ‘;O]+(2;\’ 40 q! ; [ ] LN ] 900 0000

N 5 6 7 8 9
s . ___* se sesgese

place s 6 10 11 12 13 14

46 15 16 17 18 19

54 | Reading 12



Which is 8 in the Mayan numeric system?

o0 oo ° g
a. =7 v b. C. =11 d. =13
Sfeh|(bar)s 5017 F(do 10jatn ooz 2207t 80| Eiek,
Which is 11 in the Mayan numeric system?

°

. e@-» b. eeee c. ® _; vV d o
atti7l= 5017 HE 10j2tm #eo= airhy| £ Mol & siLtel =7} 110| =ick,
Which is 67 in the Mayan numeric system?

(X (XX e (XX
a. ee® 47 l/b C. o o =52 d.... =68

20xt2]ofl - 2717} 2™ 400|222 602 20Xt2|0 Ho| 3717t US Zo|ct. 2ft7l= 50| ™2 102t fenz 72 aftir| flol & 2747t U= Zo|ct
0] BE x2S SEAFI= A2 S22 olct,

=== = AT

Which is NOT true about the Mayan numeric system?

a. The basic unit is 20. 2z

b. A dot means one. s

c. It uses only three symbols. 7

d. A seashell-like symbol is used to express 10.

ZNHE 2Y| BS= 08 UEHCH8R) D Mesz d7t 22| LHED LXISHR| 4=Ct.

CE
uloke] %7 A

St vlofl S-S ofg A 42 ALY TS| 47 AAL $2 23 AARY 100] ket 202 7[EOR B}, obut 5L £8 Al B £7ieht Wleke A8 A
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o] 22 AANA = A 12 5240 Fell Fod A 10"] g, 2efu wpof Al Ao A= T 224 1(+)E 524 0(@) floll Fo1 20(adp)o] Hrf, $-219] 524 A

Al BE 5712 TAISHE 10/12] 7158 74T ek, vlofe] 25w Al 2] 713, 2 1ol Sels A, °ﬂ algels wth7] Te)3 ool agels 2 o] 7]
B2 A B 4 4 3l
o Al 2] 7158 AFEAA HlolRISE 12 1971 offl SARHE & 4 Atk TR HloRISE 47 128 ofBA] H71? TEE 247t 58 AekE T vl wy]

oF 242k 12 sk e e ’l & Aoltt, 2750l FAAA A 127F ‘f],E]'.
5L 1980 U 2 52 ofFA FAIMS7E? 2210 Al AAllA = g 501, 46017 A= 4 Holl 62 &tk 4= 104815014 (100] Y] AIEQD) 40& Uehdct, e
I 6 1AHEI0lA (10 1 1‘,‘ HERD 6° Lehde, eyt mhop AlA ol A= 104k2] diilell 204k217E Qe mhoRjlEol 46013t A4S oAl HeAlE 271 S8 ol Y ole

Hola},
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

ancient dots amounting sum
numeric based represent
1. The sum of five and seven is 12,
2. Computer keyboards have a separate numeric keypad on the right.
2FE s om0 Heo| 2AHHmO| Yck
3. Brown areas represent deserts on the map.
4. Your opinion is based on false information.
5. In school, we studied the ancient Greek and Roman civilizations.
6. Her skirt was blue with white dots .
7.

They have debts  amounting  to thousands of dollars.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. How many symbols did the Mayan have in order to write out numbers?

They have three symbols — the dot, the bar, and the shell.

2. What is the difference between the Mayan numeric system and ours?

The Mayan’s numeric system is based on 20, but our system is based on 10.
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Keeping Sunflowers
in the Dark

| WORDS |

Match the words with their correct meanings.

1. closet d a. very typical
2. solar b b. of or relating to the sun
ol o2 3. classic a ¢. an animal, plant, human, or any other living thing

c\assyc HIHU LT ——

classical nHZ2lel 4 organism c d. a small room that is used for storing things

cf. classic music(x) SITH|, M=

dlassical musiclo) 5. purpose e. in a way that produces a desired result

6. effectively e f. the reason why something is done or used
7. internal h g. have the front part toward
8. face g h. existing or located on the inside of something

| EXPRESSIONS |
o what if: what will happen if
What if there's no sun for the sunflower to guide its solar tracking?

o as well: in addition; too
This is clear from the fact that the sunflower in darkness bends just as well.
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TRACK 13 | WORDS 228
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Anyone who keeps a garden knows that most plants bend toward the sun to
i, &t
catch as much sunlight as they can. This is called “solar tracking,” and sunflowers
FUNBEM) _
are a well-known example of such a phenomenon. If you observe a sunflower in the

early morning, you will find it turning its face eastward; at sunset, on the other hand,

its face will turn towards the west. But what if there’s no sun for the sunflower to

= what happens if 0] L bzt |of| )
_Inotherwords | what happens if you take a sunflower out of

to guide its solar tracking®l
oloj =047} ot

guide its solar tracking?

the garden bed and keep it in a completely dark closet?

shet

Surprisingly, the sunflower will continue its solar tracking with or without

sunlight. It will bend, just as it did outside, eastward at sunrise and westward at
bentg L= S
sunset, even if there is not a s1ngle ray of light inside the dark closet. This is a classic
. . [sorkéidion] . . : .
example of what scientists call a circadian rhythm. A circadian rhythm is a daily
24Nt 7| 2lg

cycle of behavior that is internal to the organism, rather than being directed by the

environment.

Sunflowers do follow the sun, but they don’t just “seek” sunlight. This is clear
SEtE7 171 EieE ZOPI7I= S{AIE 1A LS st A OfLIc,
from the fact that the sunflower in darkness bends just as well. Although sunflowers

don’t bend themselves with any purpose in mind, some scientists think they have
evolved their solar tracking system over millions of years. According to this theory,
the evolution helps sunflowers catch light more effectively, and the ones that catch

= sunflowers

light best are most likely to survive. As a result of this natural selection, we now

have sunflowers that bend automatically. However, that only happens when

sunflowers are young plants. After a certain stage sunflowers stop following the sun

and only face east.

Reading 13
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1. What is the best title for the passage?
a. How Do Sunflowers Reproduce?
v b. Do Sunflowers Always Face the Sun?
¢. How Much Sun Do Sunflowers Need?
d. Do Sunflowers Bend Their Heads Down?
sii8tal7 |7} Q0| QIS Mt EfOLS BISH ZH0| OMLIZt EAIS HX| RE WOl EHQe] WEHS mRlZICHs 203t YRSt Bt XILIY B 552 uiahuix] o=
20l thll 71451 eez byt o] Moz Jiat xasict,
2. Whatis the best expression for the blank?
a. By contrast
b. For instance
v c¢. In other words
d. In the same way
HIZIO| Qi SRS ui2 Y 2HO| ]S CHA| £/l B0| Lat 0|22 #io] HAF In other words7t A5l
3. How do sunflowers move in the darkness? Answer in Korean.
ShE et =Lt / siE &l S2IQUCE
2T szl Wol SlolE UE U SHES S5 US T NS st FUNS SAlsiCtT Mestn ok
4. What does the underlined part in paragraph 3 imply?
a. Sunflowers follow the sun day and night.
b. Sunflowers follow the sun no matter what the weather.
c. Sunflowers follow the sun to catch light more effectively.
v d. Sunflowers follow the sun not purposely but automatically.
HIZ Ch RO sHHlel |7 2E So)ME S£20| Wake HHRCHD T ol ofH oE2 SX0l= o] ofja} Xigi Mefo] Atz xisoz gxleictn yo
22 47t 74 Al
I STORY MAP
Why do sunflowers always face the sun? Fill in the blanks.
Observation [Sunﬂowers (1) always follow the sun. }
Experimentation [Even when in a closet, sunflowers will () still follow the sun. }
Theory [Sunﬂowers (3) developed g sun (4) tracking  system over a long time. }
always developed tracking still
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

purpose as well facing classic
closet effectively organisms

1. Al organisms  have to adapt to changes in environmental conditions.

2. \We keep our coats and umbrellas in the closet by the front door.

3. Confusing “it's” and “its" is a(n) classic mistake. L1 TEOE SR ST

4. The purpose of doing business is to make money.

5. Try to communicate your ideas more effectively .

6. You bought a new cell phone? | bought one as well .

7. Lunch is served on the terrace facing the sea.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. How does a sunflower behave when put in a dark closet?

It bends eastward at sunrise and westward at sunset even without sunlight.

2. What is a circadian rhythm?

A circadian rhythm is a daily behavior that a plant or animal does naturally.
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The Soccer War

| WORDS |

Match the words with their correct meanings.

qualify c
insult
outbreak
official
dispute
peak
settle

® N Do AN
A

tension

| EXPRESSIONS |

e -~ 0o o 0 o 9

given formally and publicly

do or say something that is rude or offensive
succeed in getting into a competition

a sudden start or increase of fighting or disease

end an argument or solve a disagreement

the time when something is best, greatest or highest
a disagreement or argument

a state in which people, groups, countries, etc. disagree with and feel
anger toward each other

o set off: cause fireworks, a bomb, etc. to explode =& s2) ei=ain

Honduran fans kept the Salvadoran team awake all night, setting off fireworks.
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Reading 14

TRACK 14 | WORDS 355

20

Participating in the World Cup is a great way for countries to show their
participate in: Z7tsict

national pride. But you might change your mind if you knew what happened almost

40 years ago, when a soccer game between two countries became an excuse to start
ol Mg e st wool Ssiaain gt

Honduras and El Salvador, two neighboring Central American countries, were
playing in a tournament to qualify for the 1970 World Cup in Mexico. The first
game was played in Honduras. Honduran fans kept the Salvadoran team awake all
night, beating garbage cans and setting off fireworks. The exhausted Salvadorans
were defeated the next day, 1-0.

When the Honduran team went to El Salvador for the second game, they got a
surprise! Surrounding the stadium were tanks and soldiers. The Salvadorans insulted
the Honduran flag and national anthem. Unable to concentrate, the Honduran team

As they were unable to concentrateE EAIHELZ
lost 3-0. DE T2 beingS A2st Sl

The final game between the two national teams was played in Mexico. [A] Five

thousand police were called in to keep the dangerous fans separated. |B| El Salvador
call in: ask for the help or services of (someone)
won the game, [but both teams ended up qualifying for the World Cup] €| After the
> Q2 ttA end up -ing: 2= ~0| /C}
three soccer games the hostility between Honduras and El Salvador increased,

leading to the outbreak of an official war, known as the “Soccer War.” [D| Soccer,

P The soccer game may have ended,
however, wasn’t the only cause of the Soccer War. but the conflict wasn’t over.

[The trouble had actually started years earlier over a territorial dispute between
> Q3 EtA SO M, ~of ez
the two countries.|El Salvador, a country with a large population and very little land,

noticed that Honduras had a larger land area and a smaller population. El Salvador
began claiming part of Honduran land, and Honduras grew angry. The two nations

argued over the border for years.

Unfortunately, the soccer games were played when tension between the

S countries was at its peak and the games worsened the dispute.

[Although the war lasted only 100 hours, thousands of people were

> Q4 BA

killed and wounded. As is always the case with war, nothing was
~ofl F4 = Lolxrol £8 Z= BT

solved. The territorial dispute between the two countries was not

= \
settled until the International Court of Justice(ICJ) stepped in
e PUCRIT>S
more than 20 years later.| ot ~ until 0] A2 *- 2 Yix|
~7} OFL|EFOIX|2H *--5t11 LEAOF ~5t
CF'2 st 200] RIHARICE




1. Where would the following sentence best fit?

The soccer game may have ended, but the conflict wasn’t over.

a. [A] b. (B v c./c| d.[p]

Ch= XollM =71 d717F ERtt=s F012 28
£ OHE 2SO0l tisl etEstar AT F0T 2HIM Z2S0| BLIX| §UtH= LHES= 20t 0T

2. Which is NOT true about the soccer game between Honduras and El Salvador?

a. Each country won their home game in the tournament.
b. El Salvador defeated Honduras twice in the tournament.
v c¢. Both of them failed to qualify for the 1970 World Cup in Mexico.
d. Each country tried to discourage the other team from performing well.

12162 25atA7L 2AHAT} BRIHS WA} 0|ZiXI2 22 5 € o Heol M0 22 168 Hx

3. Before they had the soccer game, the two countries

a. had maintained a good relationship

b. had been one country for a long time

c. had fought many wars because of the racial problems
v d. had already been arguing over the borderline issue

CHAm 2EHOA F izt 2te) ZH50] 0]o] +1 Hofl YE 2O AIREQICIn HODR HYS dolct, 22 20~218 X

4. Which is true about the result of the Soccer War?

a. The war brought heavy suffering to the loser.
v b. Their conflict continued long until the ICJ helped them.
c. The two countries made peace immediately after the war.
d. A large number of people in El Salvador moved to Honduras.

OFx|2f 2ol S7 T2 BX] 100A12F St XISEIReH, 20180 Xt S0l 2| Arg xHEAC| JH Foi|of 220] BTt St
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

participate dispute official insulted
qualify outbreak settle

1. The President is on a(n) official visit to China.

2. He felt they had insulted him by repeatedly ignoring his questions.

3. They were determined to settle the argument before going home.

4. Nigeria was the first team to qualify for the World Cup.

5. Everyone in the class is expected to participate actively in these discussions.

6. There was a(n) dispute over what to do with the extra money.

7. Thousands of people have died since the outbreak of the war.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.

1. How did Honduran fans interrupt the Salvadoran team the night before an important
game?

They kept the Salvadoran team awake by making noise.

2. How is the relationship between Salvadorans and Hondurans today?

Still, they are not nice to each other.
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5 Gift-Giving Culture

| WORDS |

Match the words with their correct meanings.

| EXPRESSIONS |

1. integral

2. unintended
3. recipient
4. modest

5.
6
7
8

offend

. interpret

convey

. appropriate

4

‘(‘D ‘3‘ ‘O [ (o

g
_f

>« -~ 0o o 0 T 9

a person who receives something

not planned as a purpose or goal

not too proud or confident about yourself or your abilities
very important and necessary

believe that something has a particular meaning

correct or right for a particular time or situation

express a thought, feeling or idea

make someone angry or upset by doing or saying something rude,
unkind, etc.

o put away: save or keep something to be used at a later time ~= =1 =t

The receiver will reluctantly accept the gift and put it away to be opened later.
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Reading 15

TRACK 15 | WORDS 323

Gift-giving is an integral part of all human
societies. It is how we show our appreciation,
how we celebrate certain occasions, and how we
maintain friendships and relationships. Gifts can

5 express how we feel, but they can also express
unintended messages, so gift-giving etiquette in
any culture should be handled carefully.

In some cultures that place a high emphasis
on gift-giving, there is a ritual involved in the

0 giving and receiving of gifts. In Japan, for

example, gifts are presented in beautifully
wrapped packages and are both presented and received using both hands. The giver

says something modest, such as “It isn’t much, but I wanted to show my

CHErSE Zd2 ofLct

2 A

appreciation.” The recipient of the gift will refuse once or twice, but the giver will

15 insist.[Then the receiver will reluctantly accept the gift and put it away to be opened
> Q2 £t
later.|

The choice of gift is important, naturally, and in some cultures it is easy to
t |
offend a person by giving the wrong gift. The givers of gifts must consider

symbolism; for example,[a gift of a knife or letter opener in Brazil might be seen as
SN > Q4 Bt
» symbolizing the ending of a relationship;|not the intended message of the gift.
= which is
The __relationship  between the giver and the receiver of a gift also determines

what kind of gift is appropriate. For example, in the United States, gifts such as

s
perfume are only given to women by boyfriends or husbands. If a friend were to give
v 7helel Dlghs AR THSNO| Slutst MBS FBic
such a gift, it might be interpreted as a romantic advance.
EEEED
% The culture of gift-giving differs from one society to another, but they all have
. . . differs from society to society2 &7\5.8% ‘Atfa'IDtEr Ct=chol ofo| ‘Ats|OICH CI2 M2 '2,<_7| 23512 oln|
an idea in common: in any country, when choosing gifts we must always consider
T
the message we wish to convey with the gift and think about whether or not it is

. . . . . . \— . . .
suitable for the intended recipient. Your gift will be much more appreciated if it

shows consideration and respect for the recipient’s culture.
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1. What is the passage mainly about?

a. cross-cultural etiquette in business

b. importance of gift-giving in human relationships
v c. the do’s and don’ts of international gift-giving

d. pleasure in the giving and receiving of gifts

=M MES TS O Rl Hof tis 7|&stn A= 20Ich

X|7{0F & At S 4

2

2. InJapan, the recipient of a gift

a. doesn’t receive the gift with both hands

v b. doesn’t open it in the giver’s presence z= aze wxojy s22 2o wx) et
c. sometimes gives the gift back to the giver
d. accepts it the first time the giver offers it

Then the receiver will reluctantly accept the gift and put it away to be opened later.(158)oll M Eo| ZHE 2E 4 UL

3. What is the meaning of the underlined part in paragraph 2?

a. the giver will say that the gift isn’t very expensive

b. the giver will say that the gift isn’t neatly wrapped

c. the giver will demand that the recipient open the gift
v d. the giver will demand that the recipient accept the gift

the giver will insist Fl0il= that the recipient (should) accept the gift7t Mztel oz MES F= ALZ0| Mol MES g WS
DESChH= LthEolch

4. It can be inferred from paragraph 3 that we should not give as a gift
in Brazil.
a. gloves b. flowers
v/ C. SCISSOrs d. neckties
HEFHOIAE 2T 22 B7S NS BE BUE HOR oZICK198)T $OOR X2t ol AIBEE VIRl NSEI S UUS KW 4 ULk

5. Whatis the best word for the blank?

a. conflict b. difference
c. interaction v d. relationship

HIZ Ch2 2F0IM Xt 2L FHo| ofXjol 7| MEsk= ol 1 U222 BIFholl= relationship(2tA)0] HEstct.

S Hoj 11,
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

offended modest emphasis convey
integral interpret appropriate
1. Industry is a(n) integral part of modern society.

. You're too modest . You've been a huge help to us.

. | think Neil was a bit offended that he hadn't been invited to the party.

. Advertisements convey the message that small is beautiful.

2

3

4. These clothes are __ appropriate  for a job interview.

5

6. | didn't know whether to interpret her silence as acceptance or refusal.
7

. She places great emphasis on developing good study habits.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. In Japanese culture, what is expected to happen at first after giving a gift?

The receiver is expected to refuse the gift a few times.

2. Once Yuina accepts the gift, what is she likely do with it?

She will put it away somewhere without opening it.
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READING

/‘ é A Miraculous Frog

| WORDS |

Match the words with their correct meanings.

1. hibernati%oQ b a. use an idea, method, law, etc. in a particular situation

2. freeze _c b. spending the winter sleeping or resting

3. cell d c. become hard because the temperature is very cold

4. apply ~a d. the smallest part of a living thing that can exist on its own
5. adapt h e. a part of the body that has a particular function

6. organ e f. a person who gives blood or a part of their body

7 dgnor ) f g. save something from being harmed or destroyed

8. gjalrsexggrj\lltxa1ngr g h. change something to make it suitable for a new use

| EXPRESSIONS |

o inturn:asaresult z=
The body cells of the wood frog do not freeze, which in turn allows it to survive icy temperatures.
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Reading 16

TRACK 16 | WORDS 291
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Frogs sleep through the long months of winter underground without freezing.
This is called hibernation. During hibernation, animals do not move or eat, but they
stay alive.

One type of frog living in North America has a very unusual way of
hibernating: freezing! The North American wood frog appears to be dead but comes
alive in the spring, just as water changes to icim;;ld back. Most animals die if they

' OF] 20] IS0 W T ChA] 20] &<0] _
freeze because its body cells are destroyed under the extreme temperature. So how is

it possible for the wood frog to survive the freezing?

[ The secret lies in the fact that although the water between the cells in the frog’s
> Q2 TA

body becomes frozen, the water inside the cell does not freeze.|Before the winter

begins, the wood frog stores carbohydrates in its body. As the temperature drops,
these carbohydrates turn into g_lucc:;;?gsomething like sugar juice that fills the inside
of the cell. Glucose has a mucﬁEkEo)r\w% f:‘rging point than water. Due to this fact, the
body cells of the wood frog do not freezem:vhlch in turn allows it to survive icy

o 2 THE te BAcYA O 2o

temperatures.

Now researchers are hoping to adapt the wood frog’s secret to advance
medical science. The idea is that a similar principle can be applied to
. ST} CHA] Aot sfalel 52
preserving human organs for transplants. At the present stage, a donor’s organs are

OlA]

kept in a special liquid under a very low temperature. But they must be used quickly

because freezing them would kill the cells in the organs. If doctors could learn to

apply the same principle that protects the wood frog during its hibernation to organs,

T apply A to B: AZ Boll M8sict : T

they could preserve organs longer. That would give them more time to find the best
o 20| LS e RIAIhAL = doctors TR =R Al

matches among people waiting for organ transplants.




1. What is the third paragraph mainly about?

a. how wood frogs find food
b. where wood frogs hide in the winter
c. why wood frogs live where they do

v d. how wood frogs freeze without dying

= Hm 250l So how is it possible for the wood frog to survive the freezing?(7&t)ol2tn 21 1 Che 2TollA 27d0f| st &2
Al ACE

2. Thanks toits , the wood frog can survive the freezing.

soft and silky fur
miraculous patience
special cell structure
fat in the body

although the water between the cells in the frog's body becomes frozen, the water inside the cell does not freeze.(9%)0ll M
special cell structureE €2z 32 4 Qlch

/oo

3. Whatis the best word for the blank?

a. physical
v b. medical
c. social
d. natural

Z7] O|Al2 2lstut g0 ATt

4. What does the underlined a similar principle refer to? Complete the answer
using appropriate words from the passage.

It refers to the frog’s ability to survive (the) freezing

HiZ of 2Eel #h27F DACE A 2= E & U=

a similar principle2 Ht2 & 2%2| the wood frog's secretg Y21, & 0|A

ro

I STORY MAP
How can frogs survive freezing and what is its application? Fill in the blanks.

Question {How does the North American wood frog survive (1) freezing 72 }
!

Answer [Water (2) inside body cells doesn’t freeze — just between the cells. }
!

L Doctors will one day freeze (3) human (4) cells for transplants
Application

in the same way.

cells inside freezing human

AMiraculous Frog | 71



Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

freezes hibernation organ cells
donor applied in turn

1. Our bodies are made up of cells .
. The low temperature freezes the river.

. They applied a new technique to solve an old problem.

2
3
4. Bats seldom wake up during their hibernation period.
5. Some patients die before a(n) donor is found.

6

. The human heart is a very complex organ .

7. | supported her and expected that she, in turn , would support me.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.

1. When it gets cold, what happens to carbohydrates stored in the wood frog’s body?

It turns into glucose.

2. What do people want to do using the way the frogs survive the cold?

People want to find out if they can preserve human cells through freezing for transplant.
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7 The Great Gatshy

ICHSE JH=H|: 0]=e| AMT}F, Scott Fitzgeraldel 2 A4

| WORDS |

Match the words with their correct meanings.

© N @O AN -

insight
e
narrate
extravagant
accidentally
reunite
fate
tragically

gossip

9
b
_d
_a

f

e
g

&

| EXPRESSIONS |

o run over: hit someone or something with a vehicle - sz2) 2ot

e -~ 0o o 0 o 9

without being planned; by chance

tell a story by describing all the events in order

a sudden clear understanding of something

very expensive and not necessary

talk about other people’s behavior and private lives
bring people together again

in a way that makes you feel sad

ZHAA AR O XHEE

(F.Scott Fitzgerald)

Etmt 22 ot 2ot sl ZoA W
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9| 0|Z>(This Side of Paradise)
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the things that will happen to someone, especially unpleasant events

Daisy accidentally runs over a woman while driving Gatsby's car.

o take the blame for: say that something is one’s own fault ~el =eig xict

Gatsby takes the blame for the accident.

The Great Gatsby | 73



Reading 17

TRACK 17 | WORDS 293

20

25

THZ= AlCH: HMTAE MAICHE Ol ZHA HE KoM AH|2F 78

[yl Byt e

Set in the 1920s during “the Jazz Age,” the novel
~Higez &

The Great Gatsby is considered by many to be one of

the greatest American books of all time. Written by F.
Scott Fitzgerald, it is generally agreed that The Great
Gatsby is his finest work, offering unique insight into
the empty lives of the EE‘Z£¥:riCh'

The title character of this novel is a wealthy man

by the name of Jay Gatsby, a man who has everything
cverylhing

ALOIX]
HEE

in life that people think is ‘1mportant — except love.

The character Nick Carraway narrates the novel, while renting a house near Gatsby’s
huge mansion. Every week Gatsby hosts an extravagant party in hopes of attracting

his lost love, Daisy, but instead many wealthy young people visit, and spend their

. . olok7Istct, Ytct ((PIchat H=HI= Nickolzt eigol bt
time gossiping. BH2 ALz 0IOF7IBHS 1913 IR} AIS S5t Uct)

[Although it seems Gatsby has everything a person could ever want, Nick

> Q1 EA
discovers Gatsby is dissatisfied, only wanting to be reunited with the love of his life,

Daisy.|But Daisy is married, so Gatsby encourages Nick to help them reunite. With
Nick’s help, Daisy and Gatsby finally meet, and they become emotionally involved

once again. Everything is fine until Daisy accidentally runs over a woman while
o= (g 522) A/t
driving Gatsby’s car. Gatsby, rather than abandoning her to her fate, takes the blame
JE J60| 2H0] 2710, & 07T Lol OFel MeJS ALY iofel 507 = & ~of et Ajeis Al

for the accident. Tragically, the dead woman’s husband murders Gatsby. In the end,

none of the people who attended his beautiful parties care enough about him to
f T

attend his funeral.

F. Scott Fitzgerald’s novel was not immediately popular, butlit became greatly
> Q4 Bt
appreciated by American readers and writers who realized that “the American
be(come) appreciated:.Fé?rE\Er
Dream” of being wealthy was not enough to make someone truly happy.|[Other
‘ =2 : > Q3 £
writers took this theme to heart and began questioning the real meaning of American
take ~ to heart: ~2 orSOl 71T, ~& IXIsPA| A2tsict
values in their writings as well.|
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1. According to the passage, which is true about Jay Gatsby?

a. He commits suicide after the car accident. — sjzujo) xjof 2191 oixtel ol ojsh Arshs/2ict, (20%)
v b. He is very rich but he cannot find happiness.
c. He holds a party to find a woman to marry. - iofsizi 2 ojeis 27| s mels @oict (13)
d. He is loved by the people who attend his parties. - we zaxze 2o zeao & === 12 458 o717 w2uch @12)

Although it seems Gatsby has everything a person could ever want, Nick discovers Gatsby is dissatisfied(14&)0lAl Jay Gatsby7t £ xto|x|et
HESIX| LSS L =+ UCL

2. What is the meaning of the underlined part in paragraph 3?

a. Gatsby blames Daisy’s fate on himself.

b. Gatsby thinks it is Daisy’s fate to abandon him.

c. Gatsby feels Daisy is to blame for the car accident. R
v d. Gatsby says that he is respon51ble for the car accident.

Atanof chgh 2elS Daisy7t XI7| L2l £X| 21 Gatsby XHO| Ct ooz drt FEolch

3. According to the passage, which is NOT true about The Great Gatsby?

a. Nick Carraway is the narrator of the novel.

b. The novel did not gain immediate popularity. 23

c. The novel is considered F. Scott Fitzgerald’s greatest. -
v d. Many writers questioned the literary value of the novel.

CHE Z71S0| O= ZS0lA 01=12] Ztx|zel Tigst ojojof 222 EX|7| A&t ZO|X| (fithet JH=H])ek= AHo| 28 7HX|E 2lMgh A2 OfLCh
2E 2627 =

4. It can be inferred that one of the themes in The Great Gatsby is that

v a. money can’t buy happiness
b. the American Dream is alive
c. marriage without love is unhappy
d. true love is tested in times of difficulty

SRRt SH= American Dreamo0| =27t 2oz =57 2HE0| F7(0 2S5=2dItir o8z as gz A2 4 Ut 22 23~2538 =

HE5HN
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

fate insights run over accidentally
narrate reunited gossip

1. They often gossip with each other about their neighbors.

2. Her book provides us with fresh new insights into this behavior.

3. The dog was run over and killed by a car.

4. The main characters narrate their individual stories.

5. The children were finally reunited with their families.

6. The lock prevents the door from opening accidentally

7. The boy disappeared, and his fate was unknown for many years.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. Why does Gatsby host a big party every week?

Because he hopes that his lost love might come to the parties

2. How does Gatsby protect Daisy from the car accident she had?

He takes the blame for the accident instead of Daisy.
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8 Warren Buffett

* 221 HZ!(Warren Buffett)
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Match the words with their correct meanings. XHMEEIOl 7251 T 15 21221 W Hlo|=
o| xHTHoll xHAte] 85%0f Hot= 3709

fortune = a a very large amount of money £ 7|RBICHD 93l B ATk HES RS20
B AT M 2% ZZ0|Ef 014 =zl XpAlo| 18t @0}

charity d not special, fancy, or expensive 512 742l HOJLEX| S4X[BH A AHo| 522
_ M| BESCt 5l01 ‘20t5kel $#21(Oracle

humble b the act of using money to earn more money  of Omahayolzins 22ich Bz xHio|

o , 283t HaM sHMYol(Berkshire
organizations that help people in need Hathaway)el F%£3| Tt Y22 LhY &

79| 2|F MES SiA| i=Cta Bich

investment ¢
faithfully

o]

h for a long time without stopping
continually _e

g

not choose someone for a job, course of study, etc.

expand make something become larger

© N o ok wWwbdh -
> Qe 0 o 0 T o

reject f in a loyal way

| EXPRESSIONS |

o work out: happen, develop, or end in a desired or successful way (o) z zzict
However, this worked out because Buffett attended Columbia University.

o show off: cause someone or something to be seen or noticed by a lot of people wsicr. zizssict
He doesn’t see the need for expensive purchases to show off his wealth.
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Reading 18

TRACK 18 | WORDS 311

20

25

30

There is an English saying that goes, “Don’t judge
~olatm #o] ek
a book by its cover.” This is true of Warren Buffett.
ol SgE

Although he is one of the world’s richest men, Warren

Buffett lives a simple, ordinary life. He prefers plain

clothing and drives himself instead of having a driver

and an expensive new car. Buffett even decided that upon
his death, his fortune would be donated to charity.

As a child, Buffett always worked hard and enjoyed
earning money. He sold soft drinks door to door and
worked in his family’s grocery store. He learned about
the stock market, buying his first stock at age 11. When
his family moved to Washington, D.C., Buffett delivered
rival newspapers in five different neighborhoods. When
customers canceled a subscription, Buffett offered the
competitor’s newspaper. With this strategy, Buffett was
able to earn an adult’s salary. At 14, Buffett began
renting farmland to people. He continually looked for
new opportunities and expanded his business.

Successful at 17, Buffett didn’t care to attend college. But his father’s

. | careto+ SAIEE: ~atuxt sict, BIEICHFR RHR 220l A2)
encouragement made him change his mind and attend the Wharton School at the
EIHOIIOF CHEFel ZITENE)
University of Pennsylvania and then the University of Nebraska.[Harvard Business
> Q3 £t

School rejected his application because they felt he was too young. However, this

worked out because Buffett attended Columbia University, studying under Benjamin

HIXI2 2210 (HH BT S| AS0|X} JEX[ EXIQ] CHE)

Graham, the father of value investing.|Graham greatly influenced Buffett’s

investment strategy.|Buffett carefully chose important basic stocks and kept them
» Q4 THA
faithfully, earning more money than people who frequently changed stocks. This was

his investment philosophy as well as his life’s philosophy.|

Buffett has been living in the same humble house and working in the same

XBFEF

office since 1951. He doesn’t see the need for expensive purchases like fancy clothes,

HX| £

AT X

restaurants, or limousines to show off his wealth. His business strategy is also his

life’s philosophy — work hard, choose carefully, stay humble and be successful.

PSS
= =gl

— o= AIuistaolA Ysts HEFSt 20| 7Hx| £X12| ot X|2! Benjamin Graham
£ Hath £ Q= AI7IE otsl 0| 206l e Yol =Ack= 20|
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1. Which phrase best describes Warren Buffett?

a. a poor student but a genius investor

¢ b. an extraordinary man who has lived an ordinary life =ws a2 som s
c. arich man who followed his head rather than his heart
d. an investor who achieved greater success than his teacher

Buffett=2 MAIOIAM 7He 2X121 AlZE & 8 HOIX|ZH ARSI HASH &S 43 UCh

%
>
o

2.  Why does the author mention the saying, “Don’t judge a book by its cover” in paragraph 1?
Write in Korean.

HH(Buffet)0| Eaif FXIU0E S0t HATH 42 Aot

rr

22 LEBD| shM

Buffetto] AAZ XS 210 HIMZX| 2 RE Y= S Z2E7|0l= XA 20[X| $X|2H AM2= MACIM 71 2] Atz & 8
£EE eiget Aolch

Oﬂ

0|7| m=ofl olet &=

3. Beingrejected from Harvard Business School turned out to be

a. a compliment, not an insult
v b. a blessing, not a curse

c. anightmare, not a dream

d. a problem, not a solution

SHHE ZErCsto| stetx| 28t 20| 23]2] 20iA O 2 0|52 7HUFUS B8R XFT} otLat Z='0lz2te &

4. Buffett's investment strategy is to

a. put all his eggs in one basket == #zis o vz 2oio o 20| 22 xisic= o)
b. do the opposite of his teacher’s advice

v c. choose stocks carefully and keep them
d. buy rising stocks and sell falling stocks

Buffett carefully chose important basic stocks and kept them faithfully ~(258)0liAf Buffette] £xt M2kg & o~ QUct

2251
A4 “’]““

A ARGOR geet] uhf ek Qo] £io] Qi) o]Z2 Warren Buffettol Al -85+ 2 OM |5 Al AollA 71 Faet H o] At Warren Buffett->
ZFshal FRISE 415 At} T 4% 22 o Folstal, A 7ARY R A AHsARE 2k giAle] A f‘ﬁ'ﬁ Buffette 41#]o] Zp4lo] = ] FAF ZRA1 9] AjAke: ApAL
Aol 7158712 A4t

Buffetto Ohl;’ o gk HAE] P = Bl A SR e AR th e S ERE AL 7S] &9oke AaEAelA YRk e 74 Al disy ”H‘il!!’—
114 o 3 AR 4] 4ht}, 7F=50] Washington, D.C. 2 ©]AF ZF& wf Buffett> A& th2 57 2] ol A HAAL A& viEgict, 1AEe] FE-E 4% v Buffett>
Akl AR At oleh Agko 2 Buffetr o129 B3-S ¥ 4 9lolch 144 1 Buffett 545 ARFENA ddishr] A&t 2= EAglo] M2 713 E 29k 17
29] AMdS gt

1744 /353t Buffett:> tstol] 218tal7|5 @skA] ghoteh, Lefut opw2)¢] Az "’]'\Orﬁ' HHEIL Pennsylvania @13HLe] Wharton School?} F©]¢] Nebraska tigtals
tiylch, Harvard Z9dishe T17F W& ofgjoki “77] wiie] 19 A¥& A-dIrt 18y Buffetto] Columbia te] thun 74 £219] 3212l Benjamin

Graham ZollA] 55 37] wfize] o2& &H Yollth, Graham> Buffett®] F4F 41¢ “’H Aot G vlHch Buffett>

= 5=
AEL 25 HOa|A AL 212 vl AEHT) o 1o B8 Holt) o] AL 719 4k0] Hto|gle Wul oujg}l 110] B}
Buffett> 19511d%E

" g stolglct.
1Qlal &
lH"]"’ <{/10 = 771 1 oh—w 79,} A],m Z2Fo. 3 ”9,]

/1,‘1\{,140 /'AIO A] ] ]Alsuﬂ7 1

= IO /\Jﬂﬂ A\o“/q

Apu oAl datar ek, 1 zpAle] BE IA|E] 98k WA % Ald Eis g 724 Zhg | ESo)

Sfol7| Thel, AL WIS UK NS ST P AL AFeke Aoltt.
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

fortune expand rejected investment
charity showing faithfully

1. He had served the family faithfully for 40 years.

2. He made a(n) fortune in the oil business.

3. The hotel wants to expand its business by adding a business center.
4. He drove around town, showing off his new car.

5. | have been rejected by all the universities | applied to.

6. All the money raised by the concert will go to charity .

7. The company hopes to attract foreign investment

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. According to Warren Buffett, what is the only way to earn a lot of money?

Hard work is the only way to earn a lot of money.

2. What is Buffett's strategy regarding investing?

It is to keep basic stocks for a long time rather than continually change them.

80 | Reading 18




9 Admiral Yi Sun Shin

| WORDS |

Match the words with their correct meanings.

invade

1 b
2. crisis o
3. navy g
4. fleet _a_
5.
6
7
8

desperate c

. lure e

advance (n) h

. transport (v) d

| EXPRESSIONS |
o run into: hit or bump into someone or something ~2 =5/t =sict

-« -~ 0 o 0 o o

all of a country’s military ships

enter a place in order to take control by military force

in such a bad situation that you try anything you can do

carry something from one place to another

trick someone into a particular place or into doing something

a difficult or dangerous situation that needs serious attention

a country's military forces that fight at sea by using ships and submarines
the forward movement of people or vehicles as part of a military operation

Blocked by the wire, the Japanese ships began to run into one another.

o to one’s advantage: in one’s favor, in one's interests ~ol7l 2150

Admiral Yi thought that he could use such a geographical feature to his advantage.
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Reading 19

TRACK 19 | WORDS 305

In 1597, Korea was invaded by the Japanese for the second time in five years.

The situation was a serious crisis for Korea. The navy had lost a number of major sea
had + p.p. (@712IR): S AFI0] 2 At DM SAHSS Liek
battles. By October, Korea had only 13 warships left, but the Japanese had 133, The
warships left
Korean navy was no (a) match for the Japanese fleet.
~ollA ATiF =IA] o=

5 What could Admiral Yi do in this desperate situation? He had a brilliant idea.

The battlefield, Jindo Island, is characterized by narrow straits and fast currents. In
~2 EXOZ &ic} n. sh&

one part of the Myeongnyang StErait, the distance between the island and the

mainland is only 300 meters. Admiral Yi thought that he could use such a
KIzho] XLk $ix| et S0l ZlalLt &7 S &Y Al AINE ARBEICE
geographical feature to his advantage. Admiral Yi made (b) secret plans that the
to one’s advantage: ~oil7ll K25t o
10 Japanese never expected.|Y1 placed a steel wire under the water between the island
> Q3 £t
and the mainland to block the Japanese ships when they came. The admiral also hid

his ships in the shadows of the nearby hills.]
On a foggy October morning, Yi sent one of his ships to lure the Japanese. As
expected, the Japanese ships chased the Korean one toward the Myeongnyang Strait.
15 After many ships had entered the strait, the Koreans raised the hidden wire above
the water. Blocked by the wire, the Japanese ships began to run into one another. At
= Since the Japanese ships were blocked by the wire . ot 2ES|n, SSStc
that very moment, the Koreans started firing from their hiding places. The Japanese

a. HZ2 1

ships were completely destroyed.

Because of Admiral Y1’s extraordinary victory at the Battle of Myeongnyang,

Japanese ground forces had to give up their advance toward Seoul.|[Since
A= n. @to) 22, &2l e
Japanese ships could no longer transport supplies and additional soldiers, the

AIT
P

invasion ended.]
Today, the battle is celebrated as one of Admiral Yi’s greatest

victories. In a fight comparable to that of David and Goliath, the
~0f 2xiet= = fight
small group of Korean ships destroyed a much larger Japanese

HlmZE Zxsk= 2AF much, o] B0l even, still, a lot, far S0l AFECH

force.

* ozl H (1545~1598)

ZAAITHe] AT efgt mf YEFE S2Xl= O 2 32 M2 FFEoIch
1500 YTIef2to] UOLIXL SLOHF, ARMESHT, B HLalH, FALa
™ SoM 2 S2I1E HFUCL 15974 L2 0|SUTHLZ stz 7IE
71Q0ME ZMe R AHE A0l2ts AN HEE S0 = L2 A2t
US ZHtst] ESSHR| §UCE SHXI2E 7HE 7|0k 0f0] o2 & Fof|
ZMol HFsl AAT W20l 0lzd2 HES SO0FUCHE Zefs 2ot I
st Ardoll MaliiE f17[07kx] SRt T2iLt S J0IAH B0l X
OllM = 20l CHIHSH D HASHA =|BM +ZSHAZ HHAHE 0]
=2 1349 gt Hlofet g 7{L2|u 133X<9| Mzt iz
31&g Amsts U2 AFUACHILUT). stxiet 112oll Fitat
ZlEat

2lnt HAEketo] Haeoty| 2fs 2ol HEs Y2 2HS Lolot

> 2ol

h e

> ol



1. What is the best title for the passage?

a. The Failure of Admiral Yi’s Secret Plans
b. The Japanese Secret Invasion of Jindo Island

v ¢. Admiral Yi’s Plan to Use Geography to His Advantage
d. The Importance of Patriotism in War

Ol&Al E0| HHOIIM X|2|Hel EYE 2 2E5I TYS S22 01 LHES 7Issta s S0ICh

2. Which has the same meaning as the underlined (a) match?

a. He struck a match to find his way through the dark room. stike a match: 522 #ct
b. John played his first football match on Saturday. . =7
c. Your necktie doesn’t match your shirt. v. ~¢tojzeict

v d. He was more than a match for his opponent.

The Korean navy was no match for the Japanese fleet.(3&)0llA matchs ‘A% Ah, S

SHI,

™
1

5l

10
1o

[0]2 ARZE|ULC

3. What does the underlined (b) secret plans refer to? Write in Korean.

St =& ALO| HiTt of2Holl ZEME dXlofl F= Aut 22X AH2| 0lF &0 =M ZEE sAFE A

Yi placed steel wire under the water between the island and the mainland to block the Japanese ships when they came.(10&)at o|5of Lt
2= ZEO0IAM ol ol H|Y Al=lo] FAUX|of et XtMiet dHO| L&LC,

4. As aresult of Admiral Yi's victory at the Battle of Myeongnyang,

a. the Japanese provided more supplies to their navy
v b. supplies for the Japanese ground forces were cut off

c. the Japanese ground forces joined the navy

d. the Japanese navy sailed away to the mainland

Since Japanese ships could no longer transport supplies and additional soldiers, the invasion was ended.(20&)ollA L2 Z&0| o 0l =24
ZOILt =71 HES 245 & UL LM HEHS &2 4 ot

SEE TSE T mam SH= xX= T M

T

Q#
oy rle 30

> 2

it oAt e, o

Aol uhsiA], dd 232 A=

Aol Al WS

Zn] AT

o] iR 2l 5 iz 71| Hojdch ohsiat Eeiote] Aol Hladk vk o] ARofAf, Al ¢k H= 24 il HA gokd Ui wWEe
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Self Review

VOCABULARY

Complete each sentence using the words or phrases from the word box.

lure desperate transports ran into
crisis navy invaded

1. Avan at the hotel  transports ~ guests to and from the airport.
. To meet their needs, they explored new lands and invaded other countries.

. The state is facing a severe water crisis . People should try to save water.

A W DN

. The North Korean refugees were so desperate that they risked their lives to
cross the river to get out of the poverty-ridden country.

o

The navy Is considering buying six new warships.
6. An attractive window display can help to lure shoppers into the store.

7. His car ran into my car yesterday. He was fine, but | was severely injured.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. What was special about the strait where the battle took place?

The strait was very narrow, only 300 meters between the island and the mainland.

2. How did Admiral Yi block the Japanese ships?

He raised the steel wire set in the strait.
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O The Facebook Phenomenon

0| AS(D| 2 MO|RIE) * AM Y EQA MH|A(Social
Network Service, SNS)
2o 27, MEH, S8 S

X|Qlmtel Qlot EAS Ziststm LSt
I o I MZL QIS MOp7IHA ZHS 0l

0]

X HEQYIE A £ QEE £}

Match the words with their correct meanings. =L MulAo|Ch 2ol tHEAel
SNS=ZE sHelo] 2t Mg Zo|Lt
1. dynamic d a. arapid increase in growth or economic success ATl S22 Bl BRE 4 |
WolHE'E S 4 Ik ol E9
2. site c b. large in size or amount El(Twitter), HolA=(Facebook),
. . . . oto|Amo|A(MySpace)sel SNS
3. extensive b c. aplace on the Internet where you can find information 7+ #zst gzuig 2oz ik &
. 20l F2 22 SoLt Aol
4. boom a d. full of new and exciting ideas E 852 ABEHYOL} QEL H|=
) ) ) ) i . |_|)\ xi;’q = 7+>< JHEE _EO ).t
5. upload h e. begin a relationship with someone that will continue o= =5 ygem oo
6. virtual f f. existing or occurring on computers or on the Internet
7. establish e g. an interesting or important part, quality, ability, etc.
8. feature g h. move a file or program from a small computer to a computer network

| EXPRESSIONS |

o sign up for: sign your name on a list to get, do, or take something ~<= xzzict, ~of S=51ct
Mark realized even more people would love to sign up for the service.

o lose track of: not have information about where someone is - keep track of
New members enjoy searching for friends they lost track of years ago.
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Reading 20

TRACK 20 | WORDS 319

The online phenomenon known as Facebook began as a Harvard University
S0l & Ei= Zate thAoIL AR

dropout’s hobby. Once limited to university students, Facebook has now become the

SEIXt SHIH(FAT) — to find each othere|
largest social networking website in the world. It is a dynamic way for old friends
ol zof —to meetel olol4 F0i- T

1 :
and colleagues to find each other and for new friends to meet.

5 Started in 2004, [FaCGEbOOk was originally a site only students with an email
address ending in “edu:’QéoJl:id join.| It was like being part of a huge but exclusive
club. College students throughout the USA joined the website to create extensive
networks. As Facebook’s popularity grew, its founder, Mark Zuckerberg, realized
even more people would love to sign up for the service. In 2006,[Facebook opened its

10 membership to anyone with an email address. Facebook experiezl(}cge%A1another boom
in its popularity.|

There are many features that make Facebook so popular with its users. In just
minutes anyone can sign up for the service and start uploading photos or videos.
Most new members also enjoy searching for friends they lost track of years ago.

15 Whether they knew each other from elementary, middle, high school or college,

people around the world reconnect using Facebook’s simple tools.

Facebook also includes many specialized features. Members write on a friend’s

=l

[0|AZ H&FOAM ‘poke’
waimy)) 7158 2 4
I, ol%e oK =& , . w .
we ue 2m=s 5o Messages on each other’s walls or they can send more private “Messages.” Facebook

of REE 32 Mo

profilez 22 % ‘poke’ 5120 members also “poke” each other as a greeting. Sending a “poke” to a friend is like

“Wall,” a special section of each person’s profile page. Friends post short public

H

rr
in]

0x 30
)

£2 52 2s/xoz By ——

HEE -+ U= IS0 saying “I'm thinking of you.” Like a real-life poke in the ribs, a virtual poke shows
A O e Was 2R 7Fe]

you want someone’s attention.[Members also send virtual “gifts” they’ve

> Q4 M
purchased. “Gifts” are little icons of things you might really give. Members

can buy these icons inexpensively and send them, showing their
appreciation.
Facebook’s features all help establish quality

?] a. (&7 sol) #2

y connections between people, so no matter how far

apart they are geographically, they can communicate

closely.




1. What is the best title for the passage?

a. When Did Facebook Start to Exist?

b. Did Facebook Invent Social Networking?

c. Does Facebook Face Privacy Questions?
v d. How Did Facebook Become So Popular?

CistSt 0|83 H Facebooko| T MAI2] LEIRISE 7iRlsh= 217] A= EAOIET} & 2f15S HYst= 20Ich

2. What s the closest in meaning to the underlined exclusive?

a. supporting new or modern ideas and methods

v b. available or belonging only to particular people =z rzsoojgais sz azsoe 251=
c. teaching you something you did not know before
d. very strange and difficult to understand or explain

eduz Elh= 0|H|Y FAE 7HX|1 U= SHESTH0| 71E 4 AU AO|EUCHEH)= HOlM exclusiveel 52 F2E 4 UCh

3. What did the founder of Facebook do to increase its popularity?

v a. He made it possible for any email user to join his website.
b. He advertised his website using online and offline media.
c. He bought a promising IT company to hire more engineers.
d. He established a scholarship fund to help university students.

=5t 7|12

Ol FAS JHl BE ARISO0| SIRIOR JHUT 4 QA SIPIN E B ¥ B8 AoHCH 22 O~11Y HE

4. Which is NOT included in functions that Facebook provides?

a. Its users can keep in touch with old friends. s

v b. It gives its members virtual gifts free of charge.
c. It enables users to send a virtual “poke” to each other. 2oz
d. It allows friends to post messages on each other’s walls. 7z

12(Z2 010|2)2 MBSl TRSHA ZAte] AR B 4 Aty ooz Jhuo| MEg 222 Frh= W82 b7t Facebookel 7150] otge
o & QIC} B2 20~053H AR
=5 S

2251
Facebook 34
Facebooko|etil &efzl 1E| U4 L AAE I, gh Sl AT AISHE $H Facebook- oA AlAl Hehe] 48 UEHZ(]
o 3 *JWO\E/W EJoirt, 22 i W= “1%@ I t”o\rk
200490l A1k Fluboolm 2l : % ] F4E 7ML Qe 4‘!3'5?‘1}01 7HdEE 4= Qs AfolEGIT), A AdskAnt 54 AFFERE 7HIE 4= Sl 2%
= "\ ik 91l 2L Gatol o]l 7HI Tt Facebook® {1717F A /\ ‘L“X)O‘ Mark /ud(c‘:rbergL
R o w2 ARl 1 M“Wi 1 W‘“OF’ ’—\;‘ﬂ ?4 Zoleh= & Eektt, 200619 Facebook oMY F47F iz Abgold ol Alut 39 A44-& 90t Facebook

E g o) AR /17|1E AR
FacebookZ ol §AElA 1A Q17| A TH=
2to] HAY AES

o] 834 thA] A

h E R bl et 21 AjH| 2o ZE)8ka Aplo]u) vt 9

TS

Facebook?]

Facebook-
< AABHAY L\
Az} 2k, AA

o HEe t;

A R PAPA=

R ‘ZlL]. Faubook S’l ?J,\,f E 2 *\

gt ¢

0,} u ° o}o} 'o}L]

Facebook®] & o A& YAIE &dle Ul mg s SRR, IS 2R ol" I ”JEI Hol] ‘RAVFP stk AUsHA oatads
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

establish boom signing site
virtual features track

1. Go online and visit our site for information on healthy eating.

2. The economic boom has created job opportunities.

3. ' want to establish relationships with people who can give me advice.

4. The website provides a(n) virtual tour of the stadium.

5. We lost track of each other after high school.

6. This camera has several features that make it easy to use.

7. I'm thinking of signing up for a yoga course.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.

1. Who used Facebook at first?

It was university students who used Facebook at first.

2. Why do people ‘poke’ others on Facebook?

They poke others to get their attention.
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/‘ Pets and Owners

| WORDS |

Match the words with their correct meanings.

© ~N @ o

1. outgoing
2. initially

&

4. separately

observation

predict
participant
support

b

a

d
CE
2 _

g
i

USstrt, RAsict

warning

f

| EXPRESSIONS |
o point out: talk about or mention =zttt

g o oo

S@ =~ o

at the beginning

friendly and finding it enjoyable to be with others

not together with someone or something else

the act of watching someone or something carefully for a period of
time

say that something will or might happen in the future

something that tells someone about possible danger

someone who is taking part in an activity or event

show or prove that something is correct

Not all dog owners enjoy having the resemblance pointed out to them.
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Reading 21

TRACK 21 | WORDS 321

If you have a chance to take a walk in a park, look carefully at the people
2osiA y y
. . walking their dogs. You’ll probably find friendly-looking, outgoing people with
ool 2 AR AR . . . . : : .
491 ool oloks friendly, outgoing dogs; quiet people with quiet dogs; large men with oversized dogs;
At el sk W 9 , , _ ,
© s ol 9ig5e and long-haired women with long-eared dogs. As you’ve probably noticed in your
AR, 26 72t 7l ol
;;T‘]**u‘i o]‘i - i‘j* 5 own observation, dogs and their owners tend to look alike. Have you ever wondered
223 37k 21 A @l Ak
0 el oase v g WHY?
o} ghilo] AH A Zo)A : . 5
slolabE ol Ao 7 RIS These resemblances are so common that psychologists have tried to explain
© Az gt Agel gtk 9
e wasl e 2 40 them. There are two theories: the convergence theory and the selection theory. [The

A=7k? BN ES R > Q3 TN

ol e e 2 convergence theory says that as the owner and the dog spend more time together,

=

i

Alg]okx}&‘% j}{ g Sheshs E%

aL ol A itk o7ell=
L—l olrrir]» ME“ o}q—o]a& =

g\o‘

o

they influence each other to the point where their appearances grow similar. In other

747) olo] olct, 4 o9 ~ot SEI )
sgew, oo e words, they “converge.”|The selection theory, on the other hand, claims that owners
AR A BdeE 150 B0 =OCk, S&slct

i”f o *“fﬂﬂ%jﬁf”’l' are initially attracted to dogs that resemble them, so they choose those dogs as pets.
A GEe Fr 23,
?ﬂ-t]— H]rt]o] usu

' Recently, psychologists at the University of California decided to test the two

sme e ;f theories by taking pictures of 45 dogs separately from their owners. Then they asked

15 research participants to match the dogs’ photos with their owners. The research

participants were quite successful with purebred dogs: they correctly matched 16 out

2= Jif

of 25 with their owners. However, they had almost no success connecting mixed-
breed dogs with their owners. When owners select a purebred puppy, they can easily
EE N

predict what it will look like later. But that is not true with mixed-breed dogs

2 because it’s hard to foretell what a mixed-breed puppy will look like when it

= pred|ct
becomes an adult.[And since it was was the purebreds, not the mixed-breeds that
> Q4 THAM it was ~ that, Z=7&

resembled their owners, the study seems to support the “selection theory.”|

But one bit of warning. Although many people resemble their

dogs, not all dog owners enjoy having the resemblance pointed out

FE FEQE 7 Fl0] ~8F 22 0L “Al7|cke| So| ofujat 'gsictol oo

to them. So, even if the similarity is amazing, don’t go up to a

stranger and say, “Wow, you look just like your dog!”

2320 California THeHLo) AlEHEE 45utele] S Felnt e A HS0RA F oS HA
Eop12 #ieh 29 o 25 S WA A A0S A R sl ekn axu, a7
AHEE £ AFAAE o 43201k 25 250 3 1evlelol A FUS B Sokich Tt
4% N5E 7 7ol ARl ol 71 At e, Fegel & ”OHH 12 v 1 7ok 7k
ol ofi mro] 87 47 AT 4 ek, T E O ol A7} Hlei v ol mero] 57 of2at
7) o] o] e 2E Aol Solaka sk o3 #1 e AE 2E A ohet 25 A4
7] thol 21 A Al o] &' M3k AAT Bt

2ol AT gk S A, 1S B ARkSel 150 ek BSLAIT, 2E 7] Flol 1ol A gk
chz 2ol thal AAEehe A 2715 2 ohrh webd vl Ao] Heke Jwet shrieke Al Aol
TR ok, SALE Bl Aok 2 Hohilal el et utel,



1. What is the best title for the passage?

a. Do Dogs Choose Their Owners?
v b. Do Dogs Resemble Their Owners?
c. Do Dogs Truly Love Their Owners?
d. Do Dogs Mimic Their Owner’s Behavior?

et =210 M2 F2 Aol thet & 7HX| 0|22 A7HSk= 20|ch

2. What is the closest in meaning to the underlined “converge”?

v a. tend or move toward one another
b. happen at the same time or in the same place
c. move in the shape of a circle around something
d. make a pattern of straight lines that cross each other = wxisi= ziel 2oz aiscy

HI2 240l Lt2= their appearances grow similaroiA converge?| 2|olE F2& &~ ULk

3. The convergence theory explains that the similarity between dogs and their
owners

a. decreases with the age of the two
b. decreases with increasing differences

v c. increases with the length of ownership + 712w et 57151t
d. increases with increasing attractiveness

=& 0|Z(convergence theory)2 712t F210| &7 ELil= Al7H0| HOHE= M2E Cf Hot 7t FE5tD ck 22 8~118 &x

4. Which is NOT true according to the passage?

a. The selection theory says that people want dogs like themselves.

v b. There was some resemblance between the mixed-breeds and their owners.
c. Purebred dogs have a more predictable appearance than mixed-breeds. sz
d. Some dog owners like to hear that they resemble their dogs. 24z

And since it was the purebreds, not the mixed-breeds that resembled their owners ~(21&)0ilA b7t 22| i1}t UX|GHX| LSS

oF A O
& AT

| STORY MAP

Match the theories to the correct box or boxes.

a. [is supported by research.

J

Q)] [The convergence theory J

b. {argues owners pick pets that look like them. }

) [The selection theory }

c. [argues pets and owners influence each other. J
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

warning observation initially outgoing
support predict separately

1. The professor met with each student  separately .

. We had no warning of the dangers that were ahead of us.
. The results of the study support her theory.

His outgoing personality made him very popular in school.
. She claims that she can predict future events.

. These facts are based on close observation of the birds in the wild.

N o o A W N

The situation was not as serious as we had initially believed.

i PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. According to the convergence theory, why do dogs and their owners look alike?

They influence each other so much.

2. According to the selection theory, why do dogs look like their owners?

People buy dogs that look like them.
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The New Internet Slang:
Netspeak

LOL(= laughing out loud) — 0|= HEIZS0| XSS B3 1 A= 2tof * QlEY |¥ojel BF
: D — R88& Sot= 0|=E|I2 lol — laugh out loud / lots of love
OMG — oh, my god / oh, my gosh
IDK — | don’'t know
I WORDS I GR8 — great
. . . CU — see you
Match the words with their correct meanings. IMO — in my opinion
Brb — be right back
1. ignore c a. exactly correct Ttyl — talk to you later
2. proper a b. common over a wide area or among many people
3. instant messaging d C. pay no attention to
4. widespread b d. a system for sending messages quickly over the Internet
5. motivate f e. a feeling of worry about something important
6. concern e f. give a reason for doing something
7. reluctant h g. very unusual or strange
8. bizarre g h. not willing or eager to do something

| EXPRESSIONS |
o get through: express something clearly so that it is understood ~& =it olshl7Ict
It's used in Internet chat rooms to get messages through quickly.
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Reading 22

TRACK 22 | WORDS 303

ltns! do u wan 2 mmas?
It’s bizarre to some people, but most American teens understand what that all
means — it’s an example of Netspeak, the language of digital communication. It’s

used in Internet chat rooms, instant messaging, and cell phone texting to get

i ol A1 L S8 —T Joixist 24t AR -

5 messages through quickly but what does it all mean? Long time no see! Do you want
CINNERSE

to meet me after school?

The widespread use of Netspeak among teenagers frustrates many teachers
and parents. They clair(ltlk\]?itt):s use encourages students to ignore proper spelling,
punctuation, and grammar. They fear Netspeak is destroying the English language
10 and ruining students’ communication skills.
But linguists disagree. They say Netspeak and the Internet are helpful because
they motivate kids to develop an interest in reading and writing. Thanks to online )
chatting, instant messaging, and blogs, young people are writing and communicating o
with each other more than ever before.
15 Linguists also say we shouldn’t judge Netspeak according to traditional
writing. The English language is changing because communications technology is
changing. Netspeak uses acronyms (like HAND for Have a nice day) and shortened

, S2x0{(0f2f Hofel X 212 0201l Eof ex. NATO, ADS)
words (like coz for because). But abbreviating words and phrases is neither dangerous

S Y
nor new. Long before the Internet, English words often evolved by shortening longer

20 words: mathematics was shortened to math and examination.to exam, like thousands
(was shortened)

of other words. It’s the evolution of language.

Despite teachers’ and parents’ concerns,|linguists say that most teenagers
know when Netspeak is appropriate and when it> ?SS ?1?)‘;\ They understand that the
language they use when chatting online is complete(ia;/prglri%?ée)rent from the language

2 theyS should use to write academic papersY]And while Netspeak might get reluctant

~eX|2tE, ~O0lX|at

readers and writers to communicate more in

these formats, it is still important
S -

to teach teens standard English t@(

in order for them to achieve \

30 success in the future.
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1. What is the best title for the passage?

v a. Is Netspeak a Curse or a Blessing? neispeaks xiz0171 2201712
b. How Does Netspeak Differ from Speech?
c. In What Situations Is Netspeak Appropriate?
d. Is Netspeak Changing the English Language?

Netspeak?t & ThS| FOIZ Y11 U= X2 OMIXIo] chsh MM, B2, T2l lofsixtSel M2t 7Igstn Y= Solct,

2. According to linguists, what is one of the benefits of Netspeak?

v a. It encourages kids to read and write more.
b. It enables kids to send more instant messages.
c. It helps kids learn how to create and maintain blogs.
d. It allows kids to communicate responsibly with family.

22121 ZHEo|Lt HiAX S0l 0t0|S0| TECH B 22 M1 QAASS ot ACt ML Uk 22 M| il =2t &2

3. According to the last paragraph, linguists

a. still prefer Netspeak to standard language
b. try to inspire reluctant readers and writers
c. emphasize the quality of academic papers
v d. trust the teenagers’ sense of language use

linguists say that most teenagers know when Netspeak is appropriate and when it is not.(22&)0llA HEfe| Molz|E &2 4= UCh

4. What is linguists’ attitude to “Netspeak”?

a. neutral =z=z=ol
b. critical sm=ol
v c. favorable zo=¢l
d. indifferent =zus

x |

MM RRES Y TS0

|z

NetspeakS AtZsh= 20l Cis ZAFaHX|2 Q10SIXE2 25|24 =20| Eittn Ystn ASS 2 c7t FHEHOICH

2251
A& QY 20]: Netspeak

Ims!, do u wan 2 mmas?

o] L AL ARSEA| 7| akA gk, tiFEe] n)= Al B 150 F B01A] &l Qlrk, 1Al TR E B4l 910191 Netspeak?] oflolt}, 141 QlEjul ey, wjAlA]
a3 ) A BA; wA Aol HAXE wEA LEOW HA3lA Alﬂ Ak, a7le] B 5’—‘3]3 ou]3}=7}? Long time no see! Do you want to meet me after
sghool’ giigto|oh Wt $of whd7?)S ou|gitt,

H oS Atolofl A Netspeak®] 24k AWHED Fi 52 ZHAKIT 152 Netspeak®] AHg-o] SHYER stofg ekt da}, 7 o] 23 FASheS 243t

jl—”r”é]’?‘,fk 152 Netspeak”} 4o 1S5S} QAkaE /VEC WAL Qlekal A gy,

T AofeirES FolhA] (et 152 Netspeaket QUE{Ulo] ofoEofA] ¢]7]<k ’*ﬂ“’ﬂ S A=E 5718 sl &
wlAlA 223 & = ”hj—r} o ol 25 21 A= "VV‘é =3 51 L olet,

AofeAEL w3 227t A ‘ﬂ =27]0] whet Netspe: sl Al oF Eokar wetc, B4l 7)) WskaL 917] wiiol doi7t ®igkal it} Netspeakt (Have a
nice days HA\'D'” re /"'1 " ) S RFo] (BN EE) 9t (becaus coz® A A 2-2) Sk TolEZ AREelt ey Tofol o 1E Eo A= AL 9

I AFAE o QIEY 1 r‘)o}ﬂ %‘ﬂ Mo =4 7He] th2 T 543 mathematics”} math2, L\amm(monﬂ exam o2 Eoj5 o], dof TolE2 o 7] TdolE
dlogy 22 AIQ}%E}— T17L- 910 Q] zlF}o|t}

A 0] 2ol 81k clofohS S tate] 4l ko] Nespeakrh 40 vl 187 b8 8 ok gleka o

‘1

71 g8 3L o}

ol

O o) AHgoHC 2loi7h ol 2 471 Sl AL Slok Sk Slolsl 21s] Thezet A% olsiate, 12l wmpem ohzal A8 o3 28 Ak
4o o fo| SIHASE Sl A B, At slelol $517] S Lol FE Golt AEAL AL ef1s] Fasiel
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

motivate widespread reluctant ignore
bizarre concern proper
1. Many teenagers feel reluctant to talk about their secrets with parents.
. If we continue to ignore these problems, they will only get worse.
. She died under bizarre circumstances. No one knows how.
. Is this the proper spelling of your name?

. They have expressed concern about the cost of the project.

. The plan received  widespread  support throughout the country.

N o o b~ W N

The company has used a number of methods to motivate the staff to work

harder.

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.

1. When do teenagers commonly use Netspeak?

They use Netspeak when they’re chatting online or sending instant messages.

2. Why does Mrs. Stewart worry about Netspeak?

She thinks Netspeak might destroy Jessica’s ability to communicate.
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AYHIE =H| S ML AZLO|L KT 2|2 Hol= XFYe 24T XS \
=2¢90| =% Svalbard HMx=2| 4712 & & 5tLtQl Spitsbergen Aol 448 HCHT L-ote]

ret mjo

| WORDS |

Match the words with their correct meanings.

1. restore b a. the natural home of a plant or animal

2. habitat a b. put or bring something back into existence or use

3. encounter ¢ c. have or experience problems, difficulties, etc.

4. threat d d. something that is regarded as a possible danger

5. alternative e e. that can be used instead of something else

6. impact g9 f. be very successful; do very well

7. disaster h g. the act or force of one thing hitting another

8. flourish e h. a sudden event such as a flood which causes great damage

| EXPRESSIONS |
o without charge: for free ===
Other countries can also deposit their seeds without charge.
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Reading 23

TRACK 23 | WORDS 331
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We all know the Bible story about

a1
=

how Noah prepared for the Great Flood. By

preserving a pair of every species on his
ark, he was able to restore life on Earth
following the major disaster.

Like Noah, we might encounter
severe floods as a result of global warming,
or other major threats to humans: nuclear
war or the impact of a huge meteorite. Any
such disaster could destroy tgﬁt natural

7ts49| could

habitats where plants grow, and also the plants themselves, including their seeds.

Without seeds, agriculture would be impossible. The end of agriculture would mean
the end of civilization.

That’s why a modern version of Noah’s Ark was opened in Norway in
February 2008. It’s called the Global Seed Vault. A vault is a strong, safe storage unit

=1, MEd

for important things, such as gold or important documents. But in this case, it’s for

agricultural seeds, the building blocks of civilization. When the seeds are destroyed

2829l 712

in their natural habitat, the Global Seed Vault is an alternative supply. This way, the

diversity of species can be preserved, and agriculture can continue to flourish.
The vault is inside a cave dug 130 meters deep into a frozen mountain on

[
Norway’s ice-cold Spitsbergen Island, just 800 kilometers from the North Pole. Seeds
(As they are)
of thousands of different plants are being deposited in the vault’Deep in the frozen
ENEE
mountain, the seeds will remain frozen for centuries. There they are safe from

nuclear attacks, earthquakes, and other effects of global warming.
Although the government of Norway owns the Global Seed Vault, other

countries can also deposit their seeds without charge and withdraw them whenever
(withdraw)

they need to! The first deposit was a box of seeds from different species of rice

CHEEAL

originating from 104 countries. Thousands more species are being added, as the
= because

organizers of the project attempt to store seed samples of every agricultural plant on

Earth.[Everyone hopes they won’t be needed.|But we must learn from Noah’s

. > Q4 &N = seed samples of every agricultural plant on earth
wisdom: it’s best to _always be prepared
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1. What is the best title for the passage?

a. Sharing Global Seed Banks
b. The Reliability of the Global Seed Vault
c. Sowing the Seeds of Agriculture’s Future
v d. The Global Seed Vault: A Modern Noah’s Ark

Global Seed VaultE Sith L-0te| #3=0f| HIR6IH HEstn ASSE d7t 22| M= 2 7HY MEs|ch.

2. The government of Norway can be compared to in the story of Noah
and the Great Flood.

v a. Noah
b. the ark
c. the Great Flood

d. the animals on the ark
LOt9t CHE 4 0[0F7 [0l A LOks BE Fo| SAlS 5t 4

Y= ool HIRE 4= ULk

3. What is the best expression for the blank?

1o

3ol

>

of EE2g 3enz ™ MAIS M2 Global Seed Vaultoll 22tsh= =290]

meet energy needs
sow seeds properly
always be prepared
think in a different way

-Oh= 0[2] SAlE BF 42 25 Henz J0AM 22 4 U= nE2 0|2] EH|stkt= Zo|ch

/o o

4. According to the passage, which is NOT true about the Global Seed Vault?

a. It is used to store many different seed samples.

v b. It is the seed bank many countries want to use soon.
c. Itis available to other countries at absolutely no cost. et e
d. It is a vital measure in securing the world’s crop seeds.

Everyone hopes they won't be needed.(30&)0llAl b7t 22| LIE1t URISHK| 2SS & 4 UCh

| STORY MAP

What do humans do to preserve agriculture? Fill in the blanks.

Problem [ Disasters could destroy (1) agriculture  and thus (2) civilization J
{

Solution { A big, strong (3) vault was built to preserve seeds. }
!

More than 100 countries are working together to store (4) seeds }

LIS E from every plant.

vault agriculture seeds civilization

Global Seed Vault | 99



Self Review

VOCABULARY

Complete each sentence using the words from the word box.

encountered disasters impact alternative
restore threat habitat

1. We have alternative plans in case the weather is bad. 72/= 2W7H e == @92

CHH|SH04 CHRrO| AL

2. They encountered problems early in the project.

3. The grassland is an important habitat for many wild flowers.

4. The earthquake was one of the worst natural disasters .

5. Nuclear weapons are a great threat to world peace.

6. The plane’s wing was damaged from the impact of the crash.

7. The government needs to restore confidence in the economy.

Of=ehe O

L
{ PARROT TALK Two people talk like a parrot, repeating each other’s words.

Listen and answer the following questions.
1. How could a big disaster leave nothing for humans to eat?

A disaster could destroy the natural habitats of plants, which in turn could leave nothing for humans to eat.

2. How could saving the seeds help save people?

After a disaster, people might be able to grow food from the seeds and thus save people.
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ZI- Tricked out of Love

trick A out of BE'AE £0{A BE tiCH2k= S20ICh 07| M 7t 2431 UHE QIEGH 221 UHS K0 A ARES
5HA 3lict= olojol A Campsoscolia ciliata wasps were tricked out of love.2 &0{A] 0|2 A £ Zio|c},

| WORDS |

Match the words with their correct meanings.

perfume b
terrific ¢
disguise
bloom
bump
deceive
breed

fine

® NPT RN e
el el e

| EXPRESSIONS |

-« -~ 0 o 0 o 9

a flower or flowers

a pleasant natural smell

very good, especially in a way that makes you feel happy

change someone'’s appearance so that people cannot recognize them
hit or knock against something

made up of very small pieces

produce young animals or new plants

make someone believe something that is not true

o A over B: A rather than B; A in preference to B s=ci= 4

He'll choose to visit the orchid over the female wasp.
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Reading 24

TRACK 24 | WORDS 294

20

25

Imagine you’re a lonely wasp, looking for love to brighten

your life. You know exactly what your mate should look like
and how her perfume should smell. And then it happens! You
see her from a distance and fly over to introduce yourself.
She smells great, so you ask her to dance, bumping
against her a couple of times. But just as your song is
ending, you realize she’s not a wasp at all, but a terrific /
smelling plant!

If you'd been the wasp in that situation, you’d
probably have flown away disappointed at being
_ tricked It happens all the time to Campsoscolia ciliata wasps. They think

that) —allol everythingel £ AIBE[R &4 =

they’ve found love, but all they’ve found 1 1s Ophrys speculum, a type of orchid, that
—

deceives male wasps by almost perfectly dngLIlSlng itself as female wasps.
Orchids, like other flowers and many plants, need insects to help them spread

their pollen, a fine dust that lets plants breed.[This type of orchid has evolved to
e R > QG £
attract a particular type of wasp to help it get pollinated.] The orchid develops a
A= NEE SFSOTLACE
bloom that looks like a female wasp and is covered with little red hairs. The orchid

also creates a perfume, or scent, that matches the smell of a female wasp. Even
better, the perfume the orchid creates is much stronger than the smell of a real

female wasp. So there’s really no competition; if the male wasp is nearby, he’ll
L. . —> ~HC} ex. | would choose you over any other woman in the world.
choose to visit the orchid over the female wasp.
OfZ{ GrHHC| LI Z A0F7C)

As the male wasp bumps his body against the orchid’s blossom, he gets

covered with orchid pollen. The next time he tries to find love with another flower,

he’ll drop some of that pollen off, letting the orchids reproduce, even if he never gets
Rb7| A AR 7151E 2R Ratcte o]

a real chance himself!
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1. What is the best title for the passage?

a. Insects, Watch Out!
b. Orchids Look for Love
¢. How Do Orchids Survive?
v d. Orchids: The Master of Disguise

742 LRV} o UHo| DES [T Y LHO| WS BN 43 DUS 005101 RIIRE HIERICH HolM &S| titetn & 4 Ut

2. Whatis the best word for the blank?

a. robbed
v b. tricked

3. Ophrys speculum disguises itself as a female wasp to .

a. attract its prey

b. protect itself from enemies
v c. help itself get pollinated

d. show the ability to hide itself

This type of orchid has evolved to attract a particular type of wasp to help it get pollinated.(158)olM HEe| THAME &2 4= QUCt

4. What is the meaning of the underlined part in the last paragraph? Write in Korean.

CED
Sozo] ol7h A3l A st
R0l 42 WL B % A1RHE 3 S| WHololil AR otek, G1e) ol of Aok B 11l B ol o Lok A2
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Self Review

VOCABULARY

Complete each sentence using the words from the word box.

blooms disguise breed bumped
deceived perfume over

1. The roof was so low that he bumped his head.

. The company deceived customers by selling old televisions as new ones.
. Nowadays children choose bread over rice for lunch.

. The plant’s purple blooms attract butterflies.

. He tried to disguise his voice on the phone but | could tell it was him.

2L, 2Ztsict

. The perfume of the roses filled the room.

N o o b~ W N

Many animals breed only at certain times of the year.

{ PARROT TALK Two people talk like a parrot, repeating each other’s words.
Listen and answer the following questions.
1. How does the orchid attract a male wasp?

It looks like a female wasp and it smells like one, too.

2. How does an orchid spread its seeds around?

When a male wasp lands in the flower or brushes by, it gets pollen on it.
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